LL.B. Question Bank
Semester — | / Semester —V
Prefatory Information

Please do not print unless necessary. If necessary, print on both
sides of the paper.

Study all topics in the syllabus.
The question bank is to facilitate your learning
Errors if any are regretted, please go by right answers.
If repetition, please ignore
All the Best!!

ToIUcL.dl. U] S
afATey -1/ 8fAT -V

qadaRy Arfgcr
HUAT AR AHeATH U FE AT, IS HHATH aleal
STolell Afed .
I ATAIS Td [AYIrar 3733918 .
e deh JHTEAT AU QT SIS 3118
T A We, dicdl, FUAT AT 3R U3 S
YeRTge Bl AT AT golal HIrd

AT !



LABOUR LAWS (MCQ)

1. Which one of the following is NOT machinery for settlement of Industrial Disputes
under the Industrial Disputes Act, 1947?

Conciliation Officer
Board of Conciliation
Collective Bargaining
. Labour Court

1 3= faaTe F1FaT, 1947 Sd9d Greierdent ol
TAATHUT AT (AATET=AT (ISR AT ATal?

a. TTHSTET TR

b. AATET D

c. AT{e® Giaarsil

d. HTHEIML AT

oo o

2. If there is wilful removal or disregard by the workman of any safety guard or other
device which he knew to have been provided for the purpose of securing safety of workman

Employer is liable to pay compensation

Employer is not liable to pay compensation
Appropriate government is liable to pay compensation
The Trade Union is liable to pay compensation

o0 ow

2. FHTHRTLISAT GLEAT ST TSI FL0GTA AT FlUTdgl
AT LT ohdT ST TN HTHITA SIS HIGH
TRl TohalT goret shed T
[ EnNEEaN Cc N

a. ARt THETH 9AXUTE IO TR 378

b. THATT FATS IUATH (AA<HT TR ATl

c. THATH ALATE S0ATH TR FLhE TATIRIL 3ATg

d. 3 AT THATT FLATS JUATH SATIQT A

3.First come last go and last come first go’ is the principle of

a. Lay-off
b. Closure
c. Retrenchment



d. Dismissal
3. TAH I Qe AT AT e I Tigel ST g I g
a. A-3h
b. 5=

C.Wﬁ

d. 9=

4. If employees’ weapon is strike, then what is employers’ weapon

Lock-out
Retrenchment
Go- slow

d. Pen Down

4 ST FHATITE ZATL G99 A qL ATAR A AT 1T g
a. i I3

b. reuft

C. 5@- SIT

d. U9- ST

5. What's a collective bargaining agreement?

oo

a. A collective bargaining agreement is a written legal contract between an employee and
his relative

b. A collective bargaining agreement is a written legal contract between an employer
and a union representing the employees

c. A collective bargaining agreement is a written legal contract between an employer and
the neighbour

d. A collective bargaining agreement is a written legal contract between an employer’s
relative and the society at a large.

5. T e AI<ATSIT HLTL FZUTST H1A?
a. AT g GIaT HL g7 HHATL AT AT ATAATSF
=Tt ferad swraraefiv w2 o=
b. ATH{E® 1T F BT AF=hT o1for SwH=T==1=
gtataetea Hwom=ar Ifagaaeie forfea wraeefiv #
A




c. AT (e GIaT FL gl THA=hT ATfr AT Fi=a et
forTera sTaaeiiT e |dl

d. AT e ® HISaTsil HE T HATH= ATqarseh Ao qroa1
STHTOTTT THTST ATSATATA (A d AT L 3y

6. Lay -off means

Dismissing a workman

Praising a workman

Retirement of a workman

Inability of the workman to provide work to workman

6. I-3TF TZUTS
a. FTERAT [SEHE HT0r
b. T i FHL0l

C. TR HaTHaxt
d. FTEITTTAT FHTH 0T FTHITTAT STHHITT

7. Closure means

o0 o

Permanent closing down of the place of employment
Temporary closing down of the place of employment
Stoppage of the supply of raw materials

Stoppage of the supply of power

7. a-q'rgm@r
a. AR ST FTrEHEEAT 9T F0)

b. AT TSI XA a7 HT0

c. AT HIATAT [ZAST AT
d. 1St ZasT Aiaanr

8. In which case the Supreme Court laid down the Triple Test

o0 o

Board of Studies vs. Arun lal
Bangalore Water Supplyvs. A. Rajappa
Lalit Hari vs. Vishnu Hari

Baroda Municipality vs. Farhad Shah

8. FIUTCAT THLOT Hollg ATATAIT Tagl AT ATAAN

a. TS AH TSI IOIQQSE\ StoUl Al

oo o




b. SRTATT TUft RAST. T, T[STeAT
c. Aterd g4 fawg A g4

d. F=IET AT T fa%g wigrs ATy

9. An individual dispute becomes an industrial dispute when it is supported by

The appreciable number of workmen

A few number of workmen

The number of the workman who are poor
The number of the workman who are sick

oo o

9.3rf<ren faaTE BT M= (AT a9l Segl ATaT a0+
a. FTHAATLHT THEH T &7
b. Tl HISTeh FHIHEITT
c. TS AHAHT FHTAIMTL AT H&AT

d. TSI STEeTedT SFTHERT = 9T

10.  What is the function of the Work Committee under the Industrial Disputes Act, 19477

a. To instigate dispute in the industry

b. To Lay off employees

c. To close the undertaking

d. To promote measures for maintaining harmonious relations in the work place

10.3f=nre faare srfafaaw, 1947 fava 1 A= 1
T 37?7
a. IR T THHToT FHT00
b. FHATHAT FTHTIET FHT FHLOT
c. SUFH < FL0
d. FTHT=AT TSHTOMT THATRT el TAOITHTST ST AT
FTAAT <97

11.  Which of the following activity relates to Unfair Practice on the part of the employee?
Causing damage to the property in the place of employment

Absent for sickness

Being Poor

Retiring at the superannuation age

o0 o



11. G AT FHIOTAT RATRATT FHATATSAT AT
FragTeredl Haterd 3mg?

a. ATRL=AT TSRTUT ATAHTA THRETT 0]

b. STSTXAUTHTST ST afedd

c. LIS 0T

d. HATHI AT HATHa 3l g

12. Which Act requires employers in industrial establishments to define the conditions of
employment?

The Factories Act, 1948

The Industrial Disputes Act, 1947

The Industrial Employment (standing orders) Act, 1946
. The Trade Union Act, 1926

1 2.3T0TAT FHTAATIAT AR AT e
TISTTTLT=AT 3TET AT ol AT 3Ag?

a. FLETAT hrdal, 1948

b. = faare FraeT, 1947

c. TR T (T emreen) srfafaad, 92¢s

d. € AT H1IaT, 1926

o0 o

13.  The minimum rate of subsistence allowance in case of suspension pending enquiry has
been given under which of the following Act?

a. Industrial Disputes Act,1947
b. Trade Unions Act,1926

c. Industrial Employment (Standing Orders) Act, 1946,
d. Factories Act,1948

13. e yettaa AraRsi=ar aradiaq Mate g<am=T oA a8
GTATATeh T HIOTAT HITATTEATL SUITA AT TR ?

a. e faaTa raar, 1947

b. 2T IRIT FTA<T, 1926

c. TR T (T smaen) sfearfaay, 9]9s,

d. RTTETAT &1 <l, 1948




14. Under the Employees’ Compensation Act, employer shall not be liable to pay
compensation in respect of any injury which does not result in the total or partial disablement
of the workman for a period exceeding ------- days;

a. 7

b. 3

c. 5

d 2

14 FHATAT=AT THRATTHALATS HTIATAN, ------- EELIEEI
STE STATa e aTST FHATATAT T fohaT Aifersh SToree 7
N N (&) o o o C
AT RITATE ! TETTATETST T TThT AXHTS QUATH STETI&T
TEUME AT 1;
a. 9
b. 3

c. &
d. 2

15. A person is qualified to be chosen as a member of the executive or any other office bearer
of the registered trade union if he attained the age of

Fifteen years
Eighteen years
Twenty-one years
Twenty-five years

cooe

15. TETT SA<hl HTADRTLOHT F&&T fhaT Fiauiishd R
FEHEAHAT ST TR ST FUA (HaS 0] q7 3g ST AT
FATAT IO heA [ STHA AL

a. g7 au

b. T U

C. Q?}W_Oﬁ'{;raﬁ

d. AT aY

16.  Under which of the following legislation there is a provision called ‘protected
workmen’?

a. Trade Unions Act, 1926
b. Industrial Employment(Standing Orders) Act, 1946
c. Factories Act, 1948



d. Industrial Disputes Act, 1947

N

16. QT TeTdent SHIOTCAT HTTATIHTL AT HIFIL ATATH]
SEG R Y

a. <€ AT FIAT, 123%

b. =TS TN (FATAT 3raer) Afeaaad, 92%¢%

C. h1LQTAT h1d<l, 1948
d. s=nfre feeTe FraeT, 229

17.  Which of the following dispute can be referred to the National Tribunal by the Central
Government under the Industrial Disputes Act,1947

Disputes which involves any question of national importance
Disputes which involves any question of domestic violence
Disputes which involves any question of legality of marriage
Disputes which involves any question relating to adoption

17 . @TATAT=hT FordT faaTe et feare Fraer, 1947
ST o TR LTI AT L0Tehe qT59 AThd]
a. faaTe SaTHeT e AETaT=AT RIATS! THATHAT THTAL
b. feraTe SATHe FIAt RAT=RET Sdie! T qH1eas

c. ToaTe SaHed FaTg=a1 FF<LTIUTET HIvTdTal 57

THIEE 38
d. FEaTE SaTHe T svATelt HEted RocaTar YT
THTALT 3

18.  The following person is qualified for appointment as the Presiding Officer of a Labour
Court under the Industrial Disputes Act,1947

cooe

A lawyer

A student studying LL.B.

The Chief Justice of India

He is or has been a Judge of a High Court

o0 o



18.|TA T A<hT =R TadTE FTAET, 1947 AT HTHIT

TATAATAT GIoTe T e ¥ FIh |t a1 37lg
a. TH

b:WWWﬁ.

C.

AT TATAT ST =2

d. T IF ATATAITH ATATETL ATed (haT Uleel gd

o0 o

19.

19. In which language is the text of the standing orders posted on the notice board
under the Industrial Employment (Standing Orders) Act, 1946

English or that is understood by majority of the workmen
Only Foreign language

Any language in which the employer communicates

Any language which is not known in the local area.

AT TSI (FATAT 3raer) stfert=ad, 1946 iavrq

AT AL qIeeS sholodT TATAT SMRLTAT TSTHL HIOTAT AU

Bl

C O O - . ~
a. US| [end | ﬁd@ﬂ@q Sl HITLIAT HH S
b. %<k greefT |aTuT
c. TRt SaTE AT FIOTd gl ATHT

d. IR FARITT ATa i AT IO igl HTHT.

20.

What is the object of the Industrial Disputes Act,1947

a. Payment of bonus to the employees

b. Industrial Peace and Economic Justice

c. Maternity Benefit

d. Payment of minimum wages to the employees

20 3T faaTE FTFET, 1947 =T 329 1T 37
a. FHATATAT =T THA <00
b. 3TT=ITTRTeR QTTaaT SATTOr SATfefa =T

c. ATqcd ATH

d. FHFTTET TFHTT 9 =T 307




21.  What can be the objective of a strike

Defence of family members interest

Defence of employer’s family members interest
Defence of mutual interest of the employees
Defence of the employer’s mental wellness

o0 o

21 . FOTAT 29T T 3T TRl
a. FedTdIe HaedT=AT fgdT= HIeqo
b. fAFTFaT=aT FdaTdtar gaeai=ar fgar= e
C. FHATHTAT TLEL T FLequ
d. E<RT=aT A8 ARAT e

22.  Which kind of disability is recognised under the Employees’ Compensation Act 1923?

a.Partial Disablement
b.Mindfulness
c.Insomnia

d.Being sentimental

22. FHAT ALUTS FHTAST 1923 A3 d AT THTLH U
ABEA STTA?

a. AT TeTHaT

b. FSITAT

c. FgmaTer

d. ATEATIETT TE0T

23. In Employees’ Compensation Act an employee is entitled to get compensation for

a. Appraisal in job
b. Injury

c. Termination.
d. Retrenchment

23 FHIATL HIATS HTITT FHATIATAT AXITs Heavam=
ATAHTT A1e
a. AR qoA T

b. g@TIT
c. THTHT.

10



d. STt

24, For the purpose of claiming compensation under the Employees CompensationAct,
personal injury means

Physical or mental injury.

Injury to the surrounding of the workplace
Injury to the workplace’s property

Injury to the neighbour

24. Eh‘ﬁ?TﬁﬂTtrl‘%ohluamud glohﬂmwwavu el
FLOATAT g, AT <R TSI FUTSl

a. I fohar aratae 2.

b. FTHET=AT fEHTOft SSETSIAT T

c. FHTHTAT (SR ATARTAAT o1

d. STSTT=TAT ZST1

oo o

25.  Which of the following is the power of the Courts of Inquiry under the Industrial
Disputes Act ,1947 in settlement of the industrial dispute

a. Power to enter premises occupied by any establishment to which the dispute
relates to

b. Power to instigate for strike

c. Power toask for travelling allowance

d. Power to instigate for lockout

25 3= faTe HeauamE st s FaTe #1daT,
1947 aiq A TnefT =ATATAATAT ATAFHTL @A TATRT FHIOTAT
AR?

a. TaaTe HaTad ST FITATT ATEATAATT SHATTAAT

ST 9T FH0ATAT ATEHRTT

b. FUTHATST ASHTIUITHT 9T<hT

C. TaTH AT ARTOITHT 9T<hl

d. FTFATITHATST TSHTITITHT I<hl

26.  The industrial peace is secured through voluntary and compulsory

a. Compromise and Arbitration
b. Adjudication and Arbitration

11



c. Work Committee and Industrial Tribunal
d. Negotiation and Adjudication

26. =R oTiaar Ui grfor erfeame LS
qferd et SITd

a. TSSIE AT A4S

b. v efor aTe

c. FTT TIHAT AT =i e =TT areh<or
d. FTaTETar Arfr Ay

27. Power has been given to to require Works Committee to be
constituted in every industrial establishment employing 100 workmen or more under the
Industrial Disputes Act

a. Appropriate Government

b. Labour Court

c. High Court

d. Board of Conciliation

27 =N faaTe FTT=iaid T S=EE sTEATaATHey
100 fohaT T stfers A=t [Hghl HLoT=aT F%hH
FIUETAT FATIAT FL0 AITF FLOITHATS T
STTERTT TUATA AT 3.

a. T qLHTT

b. FTHITT ~ATATAT

c. 3F ATIATAT

d. AT A

28. means an interim or a final determination of any industrial dispute or of any
question relating thereto by any labour Court under the Industrial Disputes Act

a. Banking Company

b. Closure

c. Award

d. Conciliation Proceeding

12



28. AT (AT FITATANT HIOTATE! FHTHITL
ATATAATEIL RIUTATgl AR (aarar=T fohar car=ameft
T TAT HIOTATE! TATHAT AATH el S| (o

a. ST FOAT

b. &%

C. L&Y

d. I A= AT

29. How many members does a conciliation board under the Industrial Disputes Act consist
of as per the appropriate government?

a. Chairman and 2 or 4 other members
b. Chairman and 1 more member

c. Chairman and 5 or 6 other members
d. Chairman and 10 other members

29. 7T ALHILIATE SAE (FdaT8 RIAATA T TTHTE
HeoTd ot FeeT Jqara?

a. 7T ATTor 2 FohaT 4 =< Aaed

b. TeTeT TTOT SUTET 1 Haed

C. T AT(Or 2 5 Tohar 6 aaex

d. 3TeeT ATTor A< 10 Aawy

30. A person shall not be appointed as the presiding officer of a labour Court under the
Industrial Disputes Act unless he has been the presiding officer under any provincial or state
act for not less than -------- years.

2
10
5
15

oo o

30. TETAT SA<HAT A=A THIF (AaTe FIIATANT FTHIL
ATATAATAT GISTEH I TR FZUA Hhl shetT ST, 9Tohd

o = (o = o O (o [@mN * C
ATel ST T RITATg! T haT T AT Hawiasd ----
- FUTTEAT FHT FIBSTETOT TISTH T SATLHTLN AT

a. 2

13



b. 10
c. &
d. 24

31. How many persons should be there in a national tribunal under the Industrial Disputes
Act which is to be appointed by the central government?

cooe
B WDN -

31. g GLHTIA [FIh hetedT AR faare Hwraiaid
TP AT AFLOTTAET e T sa<hl SraTad?

a. ?

b. 2

c. 3

d.4

32.  Where do the labour court, tribunal and national tribunals under the Industrial Disputes
Act, submit their awards of the dispute?

Appropriate government
Panchayat

Municipality

Income tax Tribunal

oo o

32. =T faaTe FF=iaiid FTHIT AT,
~ATATTEHLOT SITOT AL AT, e [Hare #iro
qTe FHLAra?

a. T qLH1L

IR

C. TLUTIeTehT

d. 3T =ITATIAHToT

14



33.  What is the time period in which all the awards of the arbitration under the Industrial
Disputes Act, are to be published from the date of its receipt by the appropriate government?

30 days
15 days
7 days
8 days

33. aﬁeﬂﬁ?ﬁ faare wraeiarid F»‘cﬂa”r%r ﬂé fars arg
WRDORDBGT U FTSATAT TRYURA ThIRId DHRUIT]
Froradt fodr 3me?

a. 3o feaw

b. ¢4 feaq

c. 7 feag

d. 8 feaw

34, No workmen under the Industrial Disputes Act, shall go on a strike in breach of
contract and no employer of any such workmen shall declare a lock - out during:

oo o

a. The pendency of conciliation proceedings before a board and 7 days after the
conclusion of such proceedings

b. The pendency of conciliation proceedings before a board and 5 days after the
conclusion of such proceedings

c. The pendency of conciliation proceedings before a board and 27 days after the
conclusion of such proceedings

d. The pendency of conciliation proceedings before a board and 17 days after the
conclusion of such proceedings

34. AT (AT HITATANT HIOTATE! FIHITL, FHLILAT FIT
] HUTAL STTOTTL AT STTOT 39T T Te! HTHITL =]
(Tt A7 HTATadid ATR-3T3 FANUT e 7
a. ATSTHHIL AT 7T FTAAT =AT THATHIHAAL 7 (RaqHaT
THET=AT FAATg = TeAtad el
b. HEBTHHIT ATHSET Tha=t Tetad (el SATror 7T
FTATE =T G Hae 5 faad
C. HEBTHHIT ATHSTET Tohd=T Tefela et rfor srerm
FTAATe =AT GHTHIAAY 27 [ead

15



d. HEaBTHHIT GTHSTT TTFI=T Totad Rt mfor srem
AT =T HTH AL 17 f"ae

35. Under the Industrial Disputes Act, no person employed in a public utility service shall
go on strike in breach of contract within of giving such a notice.

14 days
6 weeks
7 days

. 17 days

35. 3= faare SrE=aeid, grast+® STIHar ged
FTALT ATAAT HIMATGT SAThie AT AT feed=ar1 __
AT FLTLTAT ST FoqTH HUTAL ST Thd ATl

a. 14 feag

b. & 3M3a<

c. 7 feag

d. 17 fe==

36. How many days of service will be termed as continuous service when working in a
mine industry under the Industrial Disputes Act,

cooe

190 days
240 days
365 days
180 days

cooe

36. A= oraTe FTF=aid @ror ST T FHLAT]
fohcT feaei=aT SaaT 9qd 941 Fg0A HQaleed e,

a. 990 faaq

b. 240 feaw

c. 3gY feam

d. 180 fea=

37. Under the Industrial Disputes Act, a workman who is employed in an industrial
establishment in the place of another workman whose name is borne on the muster rolls of the
establishmentis

a. Class | workmen

16



b. Permanent workmen
¢. Badli workmen
d. Office bearer

37. A= faaTe FF=nastd, ST w0 q1d
ATEATIATHAT HESL AT 3 AT FHTHILSAT ST T AT
ATEATIAT T FHLOTT FHIEIML 3R,

a. T | FTHIAT

b. TIH FHTHITL

C. TEAT FHTHIL

d. TeTTEERT

38. Under the Industrial Disputes Act how many days of notice period is mandatory for a
workman who has been in continuous service for more than a year while retrenchment?

1 month
2 months
15 days
45 days

o0 o

38.3=T [AaTe FTI=asd Srevil FLarET T auTIeT
STed FTed AT AT TTAIT HTHITAT (b T feadi=T A
FIATAAT AHATT 3?7

a. ¢ wigAT

b. 2 Afgd
C.QL\]%EFFT

d. ¥y feag

39. Under the Industrial Employment (Standing Orders) Act, 1946in case of a dispute regarding
the suspense allowances, to whom does the employer, or the workman refer?

Friend or Relative
Green Tribunal
Family Court
Labour Court

cooTe
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39. AT TSI (FATAT Q9T ATa=aH, 1946 Sadiq
CEERIRZIRRICICNACEIEIER IR T RIS EC IO CIES
FIOTTAT o FHLara?

a. = fohar arqars=

b. g =Tt EERTT

c. I AT

d. FTHITL AT

40.  Which of these is an unfair labour practice on part of the workmen under the Industrial
Disputes Act?

a. To recruit workman during a strike which is not illegal

b. To discharge or dismiss workmen

c. Indulging in coercive activities against certification of a bargaining
representative

d. Not to indulge in acts of force or violence

40. =R fEaTe FTTTaId RTHIT=AT AR JTaeh
HIUTCT ST =TH TT 311g?

a TFTIENT ATATT HUTELTATT FTHIATLHT AT hL0T

b FTHITCAT fSEaTST 207 T a=a®h F0

C e aTST FHXOMT=AT T =aT TR A &g Taiadl
ERIEEIEIEEZ R GR

d Fstaid fhar Bar=mr=ar FATHe 9ganl gl 13

41. Under Employees Compensation Act, 1923, which of the following are considered as
dependent of deceased workman for the purpose of paying compensation?

A minor brother or an unmarried sister or a widowed sister
Neighbour

Colleagues

Employer

41 FHIT I39TS HTeT, 1923 3TaTd, @Teferdehl o

THITT IS UAT=AT I Hd FHTAATEL AT A
STTATd?

a. AT AT, ThaT ATaTiad deior fohar EeaT agior

18
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SAE

c. TgRIL
d. f=r=mr

42. Under the Employees’ Compensation Act, any workman who is injured can a file suit
for compensation and had to establish

That this injury was the result of an accident with his employment.
The injury has no connection with the employment

The injury has not taken place in the course of the employment
The injury has not arisen out of the employment

42. FHATL AIATS RTINS, TEHT ATeAAT °hIU|c||§|
FTHIATE TRATTALATSH ST AT ITEA FH& TR AT ATAT
AT LT AT
a. Bl TETIA AT=AT AThLEE ATAHT TTHTATAT TTLITTH
b. AT TETAC AT ARl Feler dae ATal
= o N O
C. TSIT ATRLI=AT HSTd ATAAT ATl
d. TSI TSI 3gadal ATal.

43.  Under the Employees’ Compensation Act, any workman who is injured can a file suit
for compensation and had to establish

Poo oo

That this injury was the result of an accident with his employment.
The injury has no connection with the employment

The injury has not taken place in the course of the employment
The injury has not arisen out of the employment.

43. FHATHTAT FLATS HIAATANT, TEHT ATAAT FHIOTATRT

FTH TR TTALATSH ST ITAT TG s ATha [ SATTIr

AT HI0T ATALTF AT,

a. B TETIA ATAT AT Eg ATAHT STTHATATAT THLOTH
AR

b. IT TETIAAT AR 12l Flglal Gael ATal

C. TIT ATRL=AT FTBTT ATAAT ATl

d. TSI TSI 3gadal ATal.

oo o
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44, In case of an injury caused by an accident, a workman can do the following

He can claim compensation under Employees’ Compensation Act
He goes to his native place

He feels bad

He shouts at everyone

A4, FTHTATHS FETAT ATHTH, HTHITL GTATA BN e
SELTI

a. TT FHATL ALATS HIAATHT TRATTALATS AT ITAT Hiee
QTR

b. AT AT=AT Heb AT AT

c. TTAT AT ATed

d. a1 FataY ALl

o0 ow

45.  Which of the following is not a characteristic of trade union?

Voluntary association
Common goals
Intermediary
Individual actions

45, @Fﬁ?ﬁ?ﬁaﬁﬁds A= ATACST qTR1?
a. TEIYAT GEeAT
b. qTETT 3T

C. HEIE
RCRINERE DI

46.  Who can be the presiding Officer of a National Tribunal under the Industrial Disputes
Act?

aooe

Who is or has been a judge of a High Court
Who has a good personality

Who speaks English very well

Who is a good human being

A6. AT faaTe FI=TAd TP AT AHOTT=T
AEqETTal ATARTL HI0T S THAT?
a. T IF ATATAIATH =ATATLTET 31 ThaT 318

20
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b. SATH S ThHE AT AT
c. ST g BT S JreAal
d. STT T FTeT |0 3Ty

47.  Which is the machinery for settlement of Industrial Disputes?

a. Industrial Tribunal.
b. Income Tax Tribunal
c. Green Tribunal

d. Family Court

47. NS faaeie ARSI HOTEIST HIo TN
38?

a. 3= =rmarfaeor,

b. SATTHT FTATIA ]

c. ST SATATIEHO

d. e =TT

48.  What is the time frame in which the employer shall submit 5 copies of the draft standing
orders proposed by him for adoption in his industrial establishment?

1 month from the date on which Standing Orders Act becomes applicable
12 months from the date on which Standing Orders Act becomes applicable
18 months from the date on which Standing Orders Act becomes applicable
6 months from the date on which Standing Orders Act becomes applicable

48 faia e SIS STRUTTAHS gad YugrTa!
IRATdd hoQdl TN R JSRATAT 5 Ul BT
HTOTAYIT HIGR HRIAT?

a. SIOTT AIEEUTEA TATAT AL HTAT AN gleed o1

qEITEA 1 7T

b. ST AEITEHA TITAT QA FTART AR gls ol AT

JEEITEA ¢ "
c. SAT ARG TATAT QT FHIIART AN Bleed A1

JEEITEA 18 Afgd

o0 o
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d. AT AREITHA TITAT QLT HTIST AR gleet A1
TEITHA € Higd

49.  As per sub - section 3 of section 5 the standing orders shall come into operation on the
expiry of days from the date on which authenticated copies are sent.

30 days
7 days
15 days
d. 5days

49. FAH 5 =T IT-FAH 3 THATL SAT ATLEAT THTU(Ihd Tt
qTSAAT AT AT TREHEA _ {Qas=a1 GaTHiHa
EATAT AT AT Bl

a. 30 feaw

b. 7 feaw

C. QL\ﬁ_chr

d. 5 faa

50. How many copies have to be submitted to the certifying officer while making any
modifications in the standing orders?

oo

10
4
5
.2

50. TITAT ATRLTT Flgl BRI FHLATAT THITOTT STTARTATAT
ToReT et STHT FTeAT ARTATa?

a. 10

b. 4

c. &
d. 2

oo o

51.  Under the Industrial Employment (Standing Orders) Act, 1946what is the amount of
fine paid by the employer wherein he fails to submit the draft standing orders as per section 3?

5,000 Rupees
200 Rupees
1,000 Rupees
10,000 Rupees

oo o
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51.3ENe ISR (R 31z i, 1946

3idvd HoH 3 TUR Gl RRT TG Jler HRUAN
RG] BT Ml WReGaT derl ahd fdbdl
31Tg?

a. 4,000 TTY

b. 200 3T

c. 1,000 39T
d. 10,000 394

52.  As per section 13, if the employer continues with the offences of non - submission of
the draft model standing orders, he pays a fine of Rupees per day.

a. 5,000 Rupees daily

b. 200 Rupees every day after the first day during which the offence continues
c. 5000 Rupees per month

d. 100 Rupees

52 %oH 13 TOR, Maledr Iex 9 SRuarl Tivs
EICEGERRIR
TGl A0 WieT ey, dl TRl ¥ ¢S
Ul

a. GRS 5,000 TG

b. UieRdl fGadMaR RIS 00 IYY ST &GREH [T
CINREIE
c. 5000 ¥UY Yl HfgHT

d. 100 >0

53.  Which amongst the following is the matter to be provided in the standing orders?

a. Attendance and late coming
To have friendly attitude
c. To be a good human being

=
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d. To be in a polite nature

gﬁ%wrd? TSI WSIoUD! BV 919 U Hge]
.. SURRE enfor ST A0
b. Tl =it 30l
c. INTST AT
d. 9 GHTATd 30|

54.  The minimum rate of subsistence allowance in case of suspension pending enquiry has
been given under which of the following legislations?

Industrial Disputes Act

Trade Union Act

Industrial Employment (Standing Orders) Act
. Collective Bargaining

oo oTe

54.F%aT USfad Al diedid Fafg v feam
R WOIGUD! DIV HHOAIEIR QUald ST 382

a. 3N faare sre

b. <8 I DHal
NS ISR (RIRF 3ATGRT) IS

d. 9He® e

55.  Which of the following statements is NOT true regarding Industrial Employment
(Standing Orders) Act, 1946

g

a. Within 6 months from the date of application of the Act, the employer shall
submit to the Certifying Officer 5 copies of the draft standing orders.

b. There is a schedule which sets out the matters to be incorporated in the standing
orders.

c. There is no provision to refer the draft standing orders to the Unions/Workmen
by the Certifying Officer.

d. Certifying Officers and appellate authorities shall have powers of Civil Courts.

55 WTOIGUD! BT fauU™ 3 ISR (IR
3rezn) HAfgH, 1946 d19d I AR
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a. DIAG] BN DHodrdl dRUURA 6 Hig=i=dl -3iTd,
T gaTiorg Sfe=iTeT Agal RRf 3eznen
5 Tal e Do,
b. Th dBIUAD g of VIR 3ffexqed JHIfAy
HRUaT] SreT FUia @,
c. TG SYBRITGR AYal R 31T
HU/HIRTRIAT UTEaudEl ®IUdisl dRde ATel.
d. vHIford SfeeRY Siftr sfdida sifemr=aian faaroft
RO YGRS,

56. Draft standing orders are to be submitted within.............

a. Two years from the date on which the Act is applicable in five copies.
b. One year from the date on which the Act is applicable in five copies

c. Six months from the date on which the Act is applicable in five copies
d. Seven months from the date on which the act is applicable in ten copies

a. U1 UdIAE ®Ael ON] AQardl dREURT &H
s

b.uﬁr T HIEl BN AGAURE U ay
c. %u?ﬁmﬁr PG BN AGATAT dTRYURA el
d. ?%ﬁm@ PG BN AGATAT dRYURA I

57.  Which legislation requires employers in industrial establishments to define the
conditions of employment?

The Factories Act, 1948

The Industrial Disputes Act, 1947

The Industrial Employment (standing orders) Act, 1946
The Trade Union Act, 1926

oo o
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57 IVl HIEAIAR RS ARTTAHENS
AT AR 3¢l URHITNT ROl ATaxTh HTa?

a. PRl h[Ucl, 1948

b. 3ENfIe faare Hmaer, 1947
c. 3RIPH AR (R 3mean) SHffaH, R8s
d. <8 gHIT HIICl, 1926

58.  The Industrial Employment (standing orders) Act, 1946 applies to every establishment
employing

No limit

2000 workmen

150 workmen on any day preceding 12 months

100 workmen on any day preceding 12 months and the government can order
by application to establishments employing less than 100.

58. 3RS ISR (R 3mezn) AfAfTH, 1946
ISR UM YD SMRITIHT SR Bl
a.ﬂ'CITET'_—I'Iﬁ

b. 2000 PTHIR

c. 12 AfigAgarar ®ivdms! fGazil 150 IR
d. 12 Afg=aigdi=a ®iurdme! fdazlt 100 HHEIR Sfor
WRHR 100 U&T HH HHART SR HTRITGHAT

3SR 3TEAT &3 2P,

59. The provision relating to suspension of the Workman has been made under which of the
following legislations?

oo o

Payment of Bonus Act

Trade Union Act

Industrial Employment (Standing Orders) Act
The Fatal Accidents Act

oo o
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59 BRI FoTIR TWRE WOTGUDH! B
BT HRUTd HTO! 3MT?

a. 99 HIGl UHS

b. <8 T DTGl

c. MNME ISR (T 3METT) BRI

d. UTUTTder HUHId hUcl

60.  The copies of the certified standing orders authenticated in the prescribed manner may
be send to ------- by the Certifying officer within 7 days.

a. The employer or the trade union or other prescribed representatives of the
workmen

b. Judiciary

Local Authority

d. Police Station

60.fafgd I THIOT Hodar T R TG0l
gdt 7 feagi=n ofrd vHIfod Sfedbraregd ------- g

qIadadl ST3 2.
a. FOtadT fhar SR T9eT fhar SR SR

fafed ufafe
b. YT RY]
c. WIS Y2MgH
d. Qo Al

o

61.  The appeal on the certified standing orders may be preferred within -------- days before
the appellate authority

60 days
30 days
15 days
. 90 days

61.JHI0d RRT SRS e Ute i
1] 13— fGagi=ar 3d Udd &0 SIS 2.

oo o
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a. 60 fgag
b. 30 f¢dyg
c. 34 fdag
d. Qo faau

62. Standing orders shall, unless an appeal is preferred under Sec. 6, come into operation
on the expiry of -------- days from the date on which authenticated copies are sent under sub-
section (3) of Sec. 5.

60 days
90 days

30 days
15 days

62.3UGoT WU faaarRiany, R 3], 6, HoH (3)
] IU-HEH A T dRYST THIUNGT Uit

U1&9aaT T3l Al ARGUNT - CERIE]
JHCIHTR HEiad gisa.

a. 60 faag
b. Qo faad
c. 30 mﬂ
d. Y feayg

63. A copy of all standing orders as finally certified under this Act shall be filed by the
Certifying Officer in a register in the prescribed form maintained for the purpose, and the
Certifying Officer shall furnish a copy thereof to any person applying:

oo o

Payment made in kind

On payment of as to the discretion of the employer
On free of cost

On payment of the prescribed fee

6307 PO AT YA 3 FoGdT Id T
e TH Ud YA AHfAGT= AT Eﬂﬂx—rﬂmﬁ

saoedl fafgd 991 AiqdeHe TG ol Seo

coow
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30T JHIUM TSR IR Ud (ST HR0MAT HIUIATal
AN ST TS

a. JAC UBHRId &0

b. (Ol [ddh ISR ¢F HodTaR

c. poberd

d. fafgd Z[o® HRGATR

64.  Standing orders finally certified under this Act shall not be liable to modification,
except on agreement between the employer and the workmen until the expiry of --------- months
from the date on which the standing orders or the last modifications thereof came into
operation.

6 months
3 months
12 months
9 months

6491 BT Gt YA poe QIR e, <7
ARWGT W 3{1e3T fdhdl Xded BREGH B TS Il
SIRECLS 3 fm— Al Jad duudd Haredn sfon
DR AT PIRIREOH, 9GO HRUIN SAEGR
IUR ATal HAd 3.

a. & Hlg

b. 3 HfgH

c. 12 AfgA
d.9 Al

65. If any workman is suspended by the employer, the employer shall pay to such workman
subsistence allowance at the rate of ----------- percent of the wages which the workman was
entitled to immediately preceding the date of such suspension, for the first ninety days of
suspension

oo o

75%
50%
60%
70%

oo o
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65.5R OIFd™ HIUAE HIHRIGT Hofad o
3@, R FAladr 3R SRS Halg U=l -t

A D

cadh UM ¢ C3® o HIHR 3N Fdearr arRa=Al
3R Py Ui gal. |, FMoe = ufgadr Todg
IFCRIRIE]

a. V4%
b. 4%
c. 8%
d. 90%

66.  The objections of the workmen in relation to the draft standing orders must be submitted
to the Certifying Officer within --------- days from the receipt of draft standing order from the
Certifying Officer.

12 days

30 days

9 days
.15 days

66.TTAT Rt 3eT deHld SR gibdl
THIUH SUGaTh e Aal R 3G HSTGaIRT

--------- fGagi=ar 31d UHIUH 3{Yhaidhs IIGT HU|
3IZTH 3R

a. 12 fGag

b. 30 faad

c. 9 feag
d. QY fdag

67.  Which of the following power is enjoyed by the Certifying Officer under thelndustrial
Employment (Standing Orders) Act

coow

a. Power of a Civil Court
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b. Power of an Employer
c. Power of an Employee
d. Power of a member of Trade Union

673N AR (R 3M1G2T) HEidid Ao ious!

IO AfYBRMET dTUR YHUH AHYBRI Hard
a. Teamft =rrear feR
b. Mt =Tl
c. HHATAT ZTSdT

d. ¢S gHT-T=aT gorl Rradl

68. How many members’ consent is required to change the name of the registered trade
union?

1/4th of the total members
3/4th of the total members
Half of the total members
2/3rd of the total members

6. AIGUNP T HIHTR TUeAd A1d da@UgMIa! fddr
Wﬁﬂﬂ?ﬁ&w&@v
a. UPU JaTUD! 1/4
b. THUI JeTUD! 3/4 dT
d. UpUl Jediued 2/3 dl

69. What are the essentials of a Strike

oo o

a. Cessation of work or refusal to do work in an industry by the workmen acting in a
body or combination.

b. Retrenchment of the employees

c. Laying off the employees

d. Appointment of the employees

69.XCTeh<l 3HTazTdh P B HTed
a. Teorr fhdl AN ST HROMAT SR YN

PHTH §¢ HIU fhal HH HYY THR Q.
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b. FHIATE] Breult
C. dVJ-ICdI-Qi"II n|[H[gRe mﬂ W

d. HHAE gt

70.  On what grounds can a union refuse to admit a person or expel a member of the Trade
Union?

Because of goodwill

Because of misconduct
Because of the humours nature
Because of polite nature

7oﬁw PRUMET Q@G Hoe TEre Kol Ja
ATPR= Z[ehd fbal ¢8 g1 Sl ghrougt

B ADhdA?
a. TraTdHos
b.

dﬂm TGHTAd

71.  What are the essentials of Lay -off

oo oo

a. Change of place of work

b. Change in the facilities of the workman

c. The failure, refusal or inability of an employer to give the employment on
account of shortage of coal

d. Notto allow to form Trade Union

71.3-3MBAT AaGD M B ATad

a. praTA] fEHIUT 5@

b. TR ﬁ%%nmfr EEY)

c. HIBATAT FHRAYS ASHR <0 Faiddrd
3R], AHR fhar sy

d.<8 AT WU & 63 AP

72. What are the essentials of a Lock-out
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a. Temporary closing of a place of employment by the employer or < refusal by an
employer to continue to employ any number of persons employed by/him
b. To Continue to appoint employees

c. To undertake the well -being work of the place of business
To undertake the social activity of the undertaking

72WG{B€H[6°[ Wiﬂpﬁm 3Ted
a. AOIFAM AIdid 3BT R g HRUl bl

g™ fhdig! SIHi HMHER 39U THR Ul
b. HHAR! Mgdd HRU Y& SAUARITS!
c. AT fEHTU HSAVGR! BT gIdl ol
d. SUGHR e IUHH A0l

73.  What is the meaning of Lock out?

a. Appointing new employees
b. Reappointing employees
c. Closing of a place of Employment or the suspension of work or the refusal by

employer to continue to employ any number of persons employed by him.
d. Laying off employees

73910 3SHc U HI?

a. 749 HHAAET e

b. HHARIT YAMged

c. TG AR 310 §¢ B0 fdhar HHEE
Fdeq fhar Faaar fodiel SidbiAT HHEMER
39U dHR <O,

d. FHATIT HHGTT HH BRI

74.  What is the object of Collective Bargaining

a. The object of collective bargaining is to arrive at an agreement between the
management and the employees determining mutually beneficial terms and
conditions of employment

b. Ignore the Management

Ignore the Employers

d. Ignore the Judiciary

o
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74 qfe® dFIATE 3T DI 38
a. JHfeP Teamsial IeaT FUN qaTa 37for
HHAR! JiATd WRER BRCRIR 3T T 2l 3G
DHIRIGR TG,

b. ATRITYATHS GO& B

c. NPERIPS GO& B

d. HTRHS Goel B

75.  What is the meaning of Award in the Industrial Disputes Act?

a. Means an interim or a final determination of any industrial dispute or of any
question relating thereto by any Labour Court, Industrial Tribunal or
National Industrial Tribunal and includes an arbitration award made under
section 10A

b. Order of the Employer

c. Decision of the Employee

d. Decision of the Trade Union

75.31M% faare SEade RGRET 3 ® 387

2. TEUNS HIVAG! HIHIR ARG, e
IR fhar IS Siefiier <aranfiesumg
DIUATE! 3NNfIS faarern fhar arEefd
mwmmmﬁmm

hOH 1OA31‘d‘Td 3 A4l odlcidl I"IOIISI Wﬁ}?
3Ae.
b. AT 3T

c. pHAET [l

d. <8 g ol

76.  The need for the recognition of the Trade Unions under the MRTU

and PULP Act is
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a. To protect interests of  the politicians against disregard of human elements in
industries.

b. To regulate the relationship of workers and their organization by regulating the balance
of power.

c. Notto provide any strength to the employees

d. Not to provide any security to workers against the occupational hazards.

76. TH3RCIY 30T PULP HIIGT 3fd¥id HIHIR
e AFgdl HSuRT TR 38
a. SNAS® AFG Uehihs god HIVATIRA
ISTHRUG T fgdia Yeur Sl
b. I HAIGT™ MIHT S HR SMf0T il
JYc-<gT ey faua &),
. HHIATIT HIdel dide ¢

d. HTTHRAS NFTURET DBTERTRIAT HIUclal R&T

UeH H 9.

(@)

77.  What is the objective of MRTU and PULP Act

Recognition of the Trade Unions

Resolve dispute relating to matrimonial issues

Resolve dispute relating to personal issues of the employer
Resolve dispute relating to purchasing power of the undertaking

77.MRTU 30T PULP SRR IeF $1 3
a. 8 Il AR
b. dalfed JHWRN T&fd faare Irsar
c. e Jufddes izt d&fia faare digan
d. SUHHTAT HURIN afdd faarg arsar

78. Who can constitute the Industrial Court under the MRTU and PULP Act ?

o0 o

The State Government
The Local Authority
The High Court

The Local people

oo o
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78.MRTU 30T PULP BRI Il 3NNfh ared

YT H& IAdhdl
5T TRBR
QTS TR
Sd Yoy
H® Blb

79. The Industrial Court under the MRTU and PULP Act shall consist of

0O 0 oo

Not less than three members, one of whom shall be the President
Not less than Five members, one of whom shall be the President
Not less than Seven members, one of whom shall be the President
Not less than Two members, one of whom shall be the President

o0 o

79.MRTU 30T PULP IOIIdd 3NN <ararearn
gJaeR] 3D

a.?én;r HH dF e TId0, ATUBT T Hehef

b. UTT JSUT HH TS, ATUB! Th AT 3D
c. jgﬁwﬁ&n FHH TS, WDt Th e8]
d.aﬁ&g;r&rr HH e TS, ATUD! Th Hehef

80.  What is the duty of the Industrial Court under the MRTU and PULP

To decide an application for the maternity benefit of the employee
To decide an application for the health benefit of the employee
To decide an application by a union for grant of recognition to it
To decide an application for the monetary benefit of the employee

80.MRTU 3101 PULP 3id¥fd 3NN A& a S
B 3Tg

a. HHATAT HIJd STHNRT 3SR g o0y

b. FHATIATAT R JTUTTST 3liar Aol ool

o0 o
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c. YTTER HIIdl GUarIdt sraiey ofg ol
d. FHAATAT IS BN 3iar oy °o)

81.  What is the duty of the Investigating Officer under the MRTU and PULP

It shall be the duty of an Investigating Officer to assist the Industrial Court in matters of
verification of membership of unions, and assist the Industrial and Labour Courts for
investigating into complaints relating to unfair labour practices.

It shall be the duty of an Investigating Officer to assist the Income Tax Tribunal

It shall be the duty of an Investigating Officer to assist the Family Court

It shall be the duty of an Investigating Officer to assist the Green Bench

81.Mf;Tn%U&rﬁﬁT PULP 3idild durg 3ifHid Hdd
G|

O] Yedral Tsdiaunel diadid i
IATGATS] AGd HRUN S0 Sfd HHIR TGl
TSI AGd B0 & duid YR Hadd ATe.
3B ATYHRONST Hed B0 g Jurd AfIH=a

Hacdd IS

PIciad FAGAST Hed HRU § U fIH=ar
FHAad D

gRd WSUIBTGT Hed B0 § dury UGB Hdad

3

82. On what grounds the Industrial Court can cancel the recognition of the Trade Union
under the MRTU and PULP

The union is very famous

The members have good behaviour

The Members are polite in nature

That it was recognised under mistake, misrepresentation or fraud

82 HIVAT HRUMIG MNH ARSI MRTU 30T
PULP 3fild ¢8 gHI-dl HFdT X H 2dhd

a.qﬁmqquﬁ?g’&ﬂ%
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b. ST aqU ATST 3R

c. UG WHIGH Y 3fTed

d. d o, obId AIaRIhUl fhdl HIqUd Hed
HBYS TS

83. The MRTU and PULP also deals with

Illegal Strike and Lockout

Health benefits of the employees
Monetary benefits of the employees
Mental benefits of the employees

oo o

83. MRTU 30T PULP GWI® HdER HdId
a. SHICIIR Y AT BlB33c
b. FHATA IR BTH
c. HHAHAT 3Mfdes STH
d. FHA ARG BRI

84.  What is the penalty if anyone refuses entry to an Investigating Officer to any place
which he is entitled to enter under the MRTU and PULP Act

a. Shall, on conviction, be punished with fine which may extend to Two hundred

b. rSth?sﬁle,son conviction, be punished with fine which may extend to One hundred

C. guhzﬁﬁson conviction, be punished with fine which may extend to Five hundred

d. rSuhrfelelia,son conviction, be punished with fine which may extend to Three hundred
rupees

84. MRTU 30T PULP SV UAR B0 3MUPR
ST DUl fEhIull TN SURITST UaRT

THPRGIY TG B &8 3.
a. QY 3EBGAN, Gl IUTTId=l Gart fRielm

GEY
b. AN 3MeBGIN, MR SUIUITT Sl f2Uaf

HEY
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c. QYT 3EBGAN, IRl ¥UAgdd 3 AHS SRT
cerdl fRren gEe
d.%eﬂquqm,ﬁﬁfr FUdaa car fRien

85. Investigating Officers, a member of the Industrial or Labour Court and a member of the
staff of any such Court shall be deemed to be ----------- within the meaning of section 21 of the
Indian Penal code

Public Servant
Employers
Employee
Workman

85.durg 3HfIpRY, eI fhal SR A™ATGAT=N
g U7 3T HI0TATe! ARATSIATAT HHATI]

ey ¢ HRAY ¢S Hfgdedn $oH % =1 SUITaR
....... O Sdre.
. Aol Add

oo o

86.  Which of the following is Unfair Labour Practices on the part of Trade Unions

To advise or actively support or instigate any strike deemed to be legal
To advise or actively support or instigate any social work

To advise or actively support or instigate any strike deemed to be illegal
To advise or actively support or instigate any scientific work

86WW%W&WW

Tl 3fTgd
a. DRI JHSGIT ST DHIVATG! KISHOT
W%@rWWWﬁH%@rWW
b. HIVIATE TG HETT ToST S0 fhar fpguo)
Tifdar <O fdhar Ide <ol
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c. SPIIGRR JHTRT SO HIUATG! WKISHOT
TGoT ¢Ul fdhar Afchauur wqd= <ol fhar s
d. PIUTATS! dFMP AN FGST Ul fdar Ffepauor
AT <O fdhar e <O

87.  Which of the following is one of the method of collective bargaining
Negotiation
Force or Coercion

Undue-influence
Misrepresentation

87WWWW U Usd 3o
b. Hdt‘ll IOI‘JOII \YIGRC'&CII
c. 3feId JUTE
d. gobld HIGIDHRUT

88.  What is Industrial Dispute?

oo ow

a. Difference between workmen and employers or between workmen and workmen,
which is connected with employment or non-employment or the terms of employment
or with the conditions of labour.

b. Healthy relationship between the employer and workman

c. Dispute or difference between workmen’s wife and employer’s wife

d. Difference between workmen and employer’s neighbour.

88.3NeNMe faare wue Hr?
a. DIHR 30T aiadr fhdl BRI FTHIR

AT B, Ol JoNTR fhdl TRIATR fdhan
SR 311N fhal HATRIAT 3fcialt afdd
3Tg.

b. AT 3MfoT TR gieardie FRET dey

c. FTHIRKN Tl AT ATGHEI Udl =A@ arg

fhal B
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d. PR AT ATSHET SR JATAS BIP.

89.  What is the objective of the Employees’ Compensation Act

To provide house facility to the employees

To provide car facility to the employees

To provide loan facility to the employees

To provide for the payment of compensationby employers to
their employees for injury caused to them by accident while in employment.

89.HHARI WRUTS SO Ife¥ H 38
a. DHAYHA TRE AUl TGS B qul
b. HHAA HRa! AT ITGS B qul
c. HHAGMAT Hol AT IUGK H qUl
d. THAd SIAHET AT HHATGIA]

2T STHIAHS
ﬁwmmwﬁ%ﬂw

oo o

90.  What is meant by Standing Order

a. Rules of conduct for workmen employed in industrial establishments.
b. Rules of conduct for workmen in their house

c. Rules of conduct for workmen in their neighbourhood

d. Rules of conduct for workmen with their relatives

90. RITl 3T US| B
a. NS SMRITIATHE HTRT FIHIRIATS! AR
g,
b. T *aﬂ?ﬂ?s HIRTRIATST g A
c. AT SR Wﬂﬂm“r El?f:ﬂ%[ ﬁm‘l
d. FIARIETS Il ATddisdids ddqrd =ad

91.  Which of the following legislation mentions about occupational diseases

Employees’ Compensation Act
Minimum Wages Act

Trade Union Act

Equal Remuneration Act

o0 o
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91. WIOIGUD! HIVAT B ATTINAS INT
RGN

a. HHIART WU BRG]

b. [HHAM ddq ST

c. 8 gAY HIUQl

d. 99 HI§c3] B

92.  What is meant by the expression ‘Accident Arising out of Employment’

a. Refers to the personal relation between the employer and the relative of the
employer

b. Refers to the personal relation between the employer and the employee

c. Refers to the link between the cause of the accident and the relative of the

employer
d. Refers to the link between the cause of the accident and the employment.

92. ASHIRIGH IGdUIRT UETd’ a1 HfHTaar 3
hY?
a. Faar enfor AAlea Adarse g=amdle dafads
ey eH 2
b. Il 3nfr HHARY TieaTdie dufdde deui
e ad
c. JTYTAT HRUN 3T ATHR Alddlss AATIS
gl de ad
d. 3TYUTArd HRUT IO IASHIR AT godrdl JaH
ad.

93.  Who has the right to certify the standing orders

Certifying officer

Judge of a High Court
Judge of a Supreme Court
. Police officer

93 RSt 3MTSY YA HRuaMET HfYBR HIUMST 3T

o0 o
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3. AT AHYBRT

b. 3 ARSI AT
c. A AT ATATEla
d. o BRI

94.  What is the date of operation of standing orders?

a. Unless an appeal is preferred it will come into operation on the expiry of Forty
days from the date on which authenticated copies thereof are sent

b. Unless an appeal is preferred it will come into operation on the expiry of thirty
days from the date on which authenticated copies thereof are sent

c. Unless an appeal is preferred it will come into operation on the expiry of twenty
days from the date on which authenticated copies thereof are sent

d. Unless an appeal is preferred it will come into operation on the expiry of Sixty
days from the date on which authenticated copies thereof are sent

94@@&@1@&#@?%116@@%&“%?
a. UGS Y A f[GOUN, 1 dREST A=A
Wﬂﬁmﬁwwmw

feagi=dl AT d HIad 8lse.

b. SYdd MGer WY fae Sd et dioddd d
=T THUhd Udl GIédadred] dRWYUNH il
feqgi=dl AR HHRlfad Blso.

c. 3UIGST MY 9 fCodN, Sl dRUGT ATl
YU Udl UIedadl Todl I dREUNA i
feqgi=d] AT d HIiad glse.

d. UtEaT UMY fe@anRen, S dREST Al

THTOT Ul Irededl odl Al dRUURE 918
feagi=n Jr-aR d HrEiad gI80.

95.  Which of the following allowances are covered under the definition of Wages in the
Employees ‘Compensation Act

a. Dearness Allowances
b. Travelling Allowances
c. Dependent’s Claim
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d. Marriage expenses of a family member

95. WAIUD! B HA HHIR! HHUIM
3 Aefie IqTAT I JHIAY 3Med
a, AGNTTS Hl

b. JaTT AT
&WI%IHW qrar
d.gpgdldm Jerdn faarg wd

96. What are the different forms of Strike

Retirement

Leaving the job
Pen down

. Appraisal in the job

96. KIehd fafdy UHR H1T 3M8d
a. Figeh
b. B Arg
c. 99- T30
d. FAIPRId Godidh

97. Which of the following circumstance requires notice of change under the Industrial
Disputes Act

cooe

a. Introduction of new rules of discipline, or alteration of existing rules, except in
so far as they are provided in standing orders.

b. Introduction of new rules to be applicable at the employee’s home

c. Regarding the change of the Political party in the State

d. Regarding the change of the judges of the High Court

97Wﬁﬁwwﬁf@ﬁﬁsﬁeﬂﬁ$ﬁaﬁ

DHIOIIAd IGOr! Il MazTddh 318
a. R Tdi9 FaArn o, fbar fagmm
Faaae) BRBR, d WKle 3iexdd UM

HOINRA.

b. HHAATAT ORI SN BIOMAT a4 Faaien k=
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c. ITIAI® IohT & deoread
d. 3 ITearAl ORI deordied

98.  What is the punishment for any person who fails to comply with any order of the Court
Industrial Courts under the MRTU and PULP Act

a. On conviction, be punished with imprisonment which may extend to three
months or with fine which may extend to five thousand rupees.

b. On conviction, be punished with imprisonment which may extend to thirty
months or with fine which may extend to five thousand rupees.

c. On conviction, be punished with imprisonment which may extend to twenty
months or with fine which may extend to five thousand rupees.

d. On conviction, be punished with imprisonment which may extend to One month
or with fine which may extend to five thousand rupees.

98. MRTU 30T PULP SHRIIdVd <aATSd 3enfiis
TSI HIUdTe! &rléin%r qT&- H0AId IRl

FSRAT DIVATE] AT B RIET 3M1g?
2. AN SMeEEa™, IF AR ag TIPS oM
PRI fbaT UTg &R SUTTwiae 28 8%

[l
b. AN 3MedaaN I Afle-diydd ®RIaNT! fdar

U g9k SUATRIdaA] derl RIeT 83 XIdhd.

c. ANl HTEsauN diY Afg=uiwideal HRIaNIT
fhar U BOIR FUTigdaen der Ren B
.

d. a'lsﬂ b AU, Udh HIS*HILMCICH HRIEN fdbd

Uld gullx Fq'q'fq'd%l?ﬂ GS Sldo 2l

99. What is the difference between strike and Lockout

a. Strike is initiated by State Govt. whereas lockout is initiated by the Central
Govt.

b. Strike is initiated by Central Govt. whereas lockout is initiated by the State
Gowt.

c. Strike is initiated by Local Govt. whereas lockout is initiated by the Judiciary
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d. Strikes are initiated by the employees and is when the workers cease work
during an industrial dispute whereas Lockouts are initiated by the employer and
is a denial of employment during an industrial dispute.

99. KIS U BIDHHICHE B T 3HTg
a. AIog WBHRA U Y& HoT 36, qR DHg IRPRA

BIDH ST & o 3G

b.$% WDHRA JU & HoT 36, TR Iod WRHRA
BIDH ST & Do 3G

c. RMDH WHRA U J& HoT 6. TR dlossd]
EUdhd & Dol 3e

d. 90 SHaiherd g hol Sdl S0 Siegl
SR TGN e fqaeea™ s g
PRI R FAFATGR DD IAEE Y= DS Il

30T 3NN faareer ™ ISR ATHRST Sl

100. What is the function of the Conciliation Officer under the Industrial Disputes Act

a. The conciliation officer shall, for the purpose of bringing about a settlement of
the dispute, without delay, investigate the dispute and all matters affecting the
merits and the right settlement thereof and may do all such things as he thinks
fit for the purpose of inducing the parties to come to a fair and amicable
settlement of the dispute.

b. No duty of conciliation

c. Toinitiate strike and Lockout

d. To initiate an industrial dispute

100. AN faare srEiaia gHe e
HT B 38
a. groi 3HYHR], fadarerar st HIgUarA
e, [ddd 7 S1adl, faarert Mfor urada’
OO SO 94 dreidt AT e ang
dISTT AHN HIS M7 AT WY AT 3N
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c. GU 3101 BIDHASC & HRUGNA!
d. 3RS faare g& HRoarIdl

Labour Law Subjective Questions (DTQ)
Q 1 Explain the objects, reasons, and features of The Employees Compensation Act, 1923
Q 2 Explain industrial dispute under The Industrial Disputes Act 1947.

Q 3 A Bank gave a contract to construct building. A particular worker on the site got injured.
Whether the bank is liable to pay compensation give reason.

Q.4.  Workman under Workman’s Compensation Act, 1923.

Q.5. Lay off Compensation under the Industrial Disputes Act, 1947.
Q.6. Model Standing Order under the I.E. (SO) Act, 1946.

Q.7. Permanent Disability under the Workmen’s Compensation Act.

Q.8. Employee was pursuing his fellow employee to join an unrecognized trade union. When
employer learnt it, he transferred him under management policy.

a. Is it anyway unfair labour practice under MRTU Act?
b. What action employee can take under MRTU Act?

Q.9. An employer makes an application for amendments to model standing orders to the
certifying officer. The certifying officer after hearing the employer and workman passes an
order. The employer is not satisfied with the order of the certifying officer.

a. What is the remedy available to the employer?
b. Within how many days the remedy should be availed by the employer?

Q 10. Explain the concept of “arising out of and in the course of employment” under the The
Employees Compensation Act, 1923.

Q11. Define Industry under the 1.D. Act 1947. How the apex court has widened the definition
of the term industry
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Q12 Discuss the powers and functions of commissioner under the The Employees
Compensation Act, 1923.

Q.13. Grounds for cancellation of recognition of Trade Union.

Q.14. Lock out under the Industrial Disputes Act.

Q.15. Labour Court under the Industrial Disputes Act.

Q.16. Give three examples of Illegal strikes under the MRTU and PULP Act.
Q.17. Layoff under the Industrial Dispute Act 1947.

Q. 18. What are the rights of unrecognized Union under the MRTU and PULP Act.

Q .19. Explain the procedure of holding Domestic inquiry under Industrial Employment
Standing Orders Act 1946.

Q.20. Explain unfair Labour practice on the part of trade union under MRTU&PULP Act
Q. 21. Theory of Notional Extension.

Q. 22. Obligations of the recognized union.

Q.23. Dependents under Workmen’s Compensation Act .

Q. 24. Appropriate Government under 1.D. Act, 1947.

Q. 25. Investigating Officer under the MRTU & PULP Act.

Q. 26. Explain the various authorities for redressing the dispute under the I.D. Act 1947

Q. 27. What is a recognized union and what are the legal requirements that a union must fulfill
for seeking recognition?

Q. 28. “Draft Standing Order” under the Industrial Employment Standing Order Act, 1946.
Q. 29. What do you mean by Retrenchment under the 1.D. Act,1947.

Q. 30Mention any three rights of the recognized union?

Q.31What are the advantages and disadvantages of Collective Bargaining?

Q.32 Discuss the provisions for re- recognition of a trade union.

Q 33 What is subsistence allowance under Industrial Employment Standing Orders Act, 1946.
Q 34 What is the object of the Industrial Employment Standing Orders Act, 1946.

Q 35 Explain protected workman, employer under 1.D Act 1947

Q 36 Distinguish between lay off and retrenchment
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Q.37. Discuss any three powers of Certifying Officer under Industrial Employment Standing
Orders Act, 1946.

Q. 38 Discuss any three duties of the Works Committee under the Industrial Disputes ‘Act,
1947.

Q.39 Write any two objective of the Industrial Disputes Act 1947.

Q. 40 Discuss three unfair labour practices on the Part of the employees under the M.R.T.U. &
PULP Act.

Q.41 Write the provisions for appeal under the Industrial Employment (Standing Orders) Act,
19467

Q. 42 What is Public Utility Service. Explain with a Case Law.

Q. 43. Industrial Tribunal under the Industrial Disputes Act, 1947.

Q. 44 Investigating officer under the Industrial Disputes Act, 1947.
Q. 45 Contracting out under Workmen’s Compensation Act, 1923.
Q.46. What is an award and settlement?

Q. 47 Two Points of difference between strike and lock out

Q48 What is continuous service as per 1.D Act 1947

Q 49 State in brief the procedure for filing complaint relating to unfair labour practice under
MRTU&PULP Act

Q 50 Give two kinds of misconduct on the part of the workman under Industrial Employment
Standing Orders Act 1946.

Q51 What is an occupational disease under the Employee’s Compensation Act, 1923

Q 52 An Engine driver died while on duty due to a massive heart attack. It was found that he
was suffering from heart problems give reasons whether the employer is liable to compensation

Q53. State the various authorities under the MRTU&PULP Act.

Q54. Explain the procedure with respect to notice of change by the employer under the 1.D
Act, 1947.

Q55 Explain the procedure for obtaining leave under the Industrial Employment Standing
Orders Act 1946.

Q 56 What is collective bargaining and its importance in modern times
Q57. When does a strike become illegal under the I.D Act, 1947?
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Q58. Explain the procedure for certification of draft standing orders under  Industrial
Employment Standing Orders Act 1946.

Q59.When is the employer not liable to pay compensation to the employee under The
Employees Compensation Act, 1923

Q60.Explain permanent total disablement as per The Employees Compensation Act, 1923
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w¢) 3MfE AR (R emewn) Sifefygw, R¥s Sidvfd Ayer wirh
TSI YHIOTBRUN HRUTT Ufchar Ty &,
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SEISHEGIE]

§0) HHTANR! HRATS DHIAGT, 333 TIR HIIHEU! THUT ST TF P,

Contract- | DESCRIPTIVE QUESTIONS (DTQ)

Q 1 What is a Contract? Mention any three essential elements a valid contract? / ®XIR U
P17 Y HRRTAT HIUATE! i AP Yedhdl I BRI?

Q 2 Define Proposal. Mention any three essentials of a valid Proposal. | TRTd aiRHTiSd .
Y TRATATHT HIUTATRT <14 Sa=aH TS TaT Ieaid B,

Q 3 Define Acceptance. Mention any three essentials of a valid Acceptance. / W
TRUIT BT, I WGl AT BT i HTIRID B AT I D,

Q 4 Mention any three types of Offers. | BIUTATR! I Uh R SRl IeeiRg .

Q 5 Mention any three circumstances under which an Offer gets revoked. / S T R
il ST SRYT HIVATE] dli-l TR Ieeid D],

Q 6 Explain the case of Lalman Shukla V/s Gauri Dutt / &THT I[dA] %G TRI T U0l
Y H

Q 7 Distinguish between Void Agreement and Voidable Contract / i HIR 3nfor R
RO IR ATHSG HRh Y B

Q 8 What is an Invitation to an Offer? Mention two examples of Invitation to Offer. /

STHEIGTST STHAVT TGOS HT? THITS! STHAUMRR G SSTe0r i,

Q 9 Mention any three Exceptions to the general rule No Consideration No Contract. / Bl
HIASYZ Al Blcde JT IHRI HIATIIS BTG A UG SGH™ BRI,

Q 10 What is Doctrine of Privity of Contract? Mention any one exception to it. / IRl

Mu-taadr Rigid S/ 3M1g? ATdST HIUArG! Th 3Udlg THg .
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Q 11 Who is Competent to Contract? What is the consequence of a Minor’s Agreement? / hRIX
DHRUGY Y& D107 3g? QUL BRI URUMTH B 3Tg?

Q 12 Who is a Person of Unsound Mind? When can such a person enter into a valid contract?

/ ST} FT Tl BT 3182 3= et 3 HIR Bt B Fpa?

Q 13 Distinguish between Coercion and Undue Influence. / STSRG! 3101 Sfad gHTd
ATl BR ],

Q 14 Distinguish between Misrepresentation and Fraud. / Q,Obnla HIGIDHROT 3101 hHdU[h

TS T 35T,

Q 15 Mention any three agreements which are against Public Policy. / S HRoT=a
faRIYUTd RIS ST HIVATE! A PRI SGOG B,

Q 16 What is Bilateral Mistake of Fact? What are its consequences? Write one suitable example

on Bilateral Mistake of Fact. / IR fgUad I B 3HTe? AT YR BRI 3Tgd?
feuefia oo TRRUTaR T dvg IareRul g,

Q 17 What is Mistake of Law? What are its consequences? Write one suitable example on
Mistake of Law. / HTIET g 1T 3Tg? T GRUME S 3HTed? SR IhlaR Th

g 3Rl fogl.

Q 18 Define Wagering Agreement. Is a Wagering Agreement Valid or Void , Justify? / aoTIRAT
PRR URHTT FHR1. TH IR HRR Y 3118 P I, TR 31372

Q 19 What is an Uncertain Contract? Is such a contract Valid or VVoid, justify? Also, write one
example of Uncertain Contract. / 3ifRed HR U B2 3T IR Y 318 & AR,
I 3MTg? T4, SHARId HIRT Teb IaTervl fogr.

Q 20 Distinguish between Wagering Agreement and Contingent Contract. / TSI BRI STIOT
3T b HIRTHE T PR,

Q 21 Who can perform the Contract? / IR DI CMWW?

Q 22 At what time and place the contract must be performed? / PR HIUTT acd! 3107 fSepTont

@1 Uifgol?

Q 23 Mention three circumstances under which a Contract Need not be Performed? / GG

IR ST oG HRI AT HRR GUI HRUI SAAD ATG1?
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Q 24 Mohan ordered a suit for his wedding and informed the seller Sohan that he wants delivery
of suit on 20 th August, 2021. However, Sohan failed to deliver the suit on 20 th August. What

are the rights of Mohan? / Hig=- T SIS Y& AFTIST IO fadbar HigoT dedao
DI TS 20 RS 2021 ol Yedi {Sfoeg) gdl 3ire. T, T 20 R IJsi Y SuaTd
ST B, Higd 3fYBPR S 3Aed?

Q 25 What is Breach of Contract? Mention any two types of Damages available for the same./
PHRRTET T U 1?2 AT UGS SRS G DIUATE! G Yh R THIH I SGoW
P

Q 26 What is Quantum Meriut?/ ®icH ARYT 8IS HII?

Q 27 What are the Remedies available to the aggrieved party for the Breach of Contract? /
PRI FGOYIRIS! GifSd U&Tdhs HIvd IU ITG 3HTod?

Q 28 Distinguish between Liquidated Damages and Unliquidated Damages./%@@éggﬁaﬂ
3T ST S S SHTHE Thidh .

Q 29 How a Contract gets Discharged?/ @R b 3] NIEISIGIE

Q 30 Distinguish between Void Agreement and lllegal Agreement. / [T PR 3o

IHTICINR HIR JTATAS BIb D

Q 31 What is a Quasi Contract? Mention any two Quasi Contracts. / 31ef FIR #E;le?i D[Y?
DIUATR &H Y PIRTAT SGOY DRI,

Q 32 All Contracts are Agreements but All Agreements are not Contracts, explain./ Td IR

2 3fifie smed wig 94 Sffife 3 HRR e, WY A,

Q 33 Can a Minor act as an Agent? Can he become a Partner of a Partnership Firm? / Ud»

GUGHH Toic BUH HH H& AHd1? dl HFMGR! HHAT HRNER 813 21dhdl 17

Q 34 Mention any three situations under which a Contract becomes a Voidable Contract./

DIvATE! 1 IR IGST B ST 3ffd R € HRUGRT HRR I,

Q 35 X, a minor was studying in XI in a college. On 1st July, 2021 he took a loan of Rs.

1,00,000 from B for payment of his college fees and to purchase books and agreed to repay
by 31st December 2021. X possesses assets worth Rs. 9 lakhs. On due date, X fails to

pay back the loan to B. B now wants to recover the loan from X’s assets. Decide whether

B would succeed? / x BT S@UAI BT UhT HETAETSANd ShRIdId f21dhd gl 1 9o

56



2021 st T F. 2,00000 B HGT AT DIoora! B HRUITITST AT T Wl
HRUANITS] B T o 3107 31 FEUER 2021 THd IRA%S HRUATE AR H&. X Ha
3. T 9 BRI HIGHTT 318, 3T dRWS] X , B BT Poldl IRdh S B 2AHhd e, BT
3TAT X T ATGHTUGT ol aYe BRI 315, B TIRAT G180 P -ATa! § SXal?

Q 36 Sohan started “self-service” system in his shop. Smt. Rakesh entered the shop, took
a basket and after taking articles of her choice into the basket reached the cashier for

payments. The cashier refuses to accept the price. Can Sohan be compelled to sell the said

articles to Smt. Rakesh? / HIg= RIEIKCIRIG] "@?2"55 BIEEA 1;IUI1T"§)[$K ol i,
HRM GHHI AR BT, Uh CIue! dao! T fa=ar sradia 9 Ausld g3
JHCHI3T SRIRGS GOl JWUTe fhHd WHRUIY IR ddl. Aol § o
el ITp3T 1 f[AH T U UTSS 1S5 RAdbd HI?

Q 37 Amar entered into a contract with Akbar to sell him 1,000 water bottles @ Rs. 5 per

water bottle, to be delivered at a specified time. Thereafter, Amar contracts with Raju for
the purchase of 1,000 water bottles @ Rs. 4.50 per water bottle, and at the same time told
Raju that he did so for the purpose of performing his contract entered into with Akbar.
Raju failed to perform his contract and market price of each water bottle on that day was
Rs. 5.50 per water bottle. Consequently, Amar could not purchase any water bottle and
Akbar rescinded (cancelled) the contract. Calculate the amount of damages which Amar can

claim from Raju? What would be your answer if Amar had not informed about his contract

with Akbar? / 3R HERS] 1,000 UTOITAT STeadl [ UMl dRR Hol. 5 Uid Jrodrt
qeol, ThT fafAfcy doam famid &t JEe. MR SHERA 1,000 U0 SIeqdil
TREATST AN FRR H@T. 4.50 YT TT0aT dTco!, 0T I ! ASET WRde &
A BRI HOGT PRR GUl HRUGMAT I 3 B0, 9] IST HIR Y01 e
RAHGT ATR! 0T AT f[Ga=N Udd UTuaraT dico o aToRHTd 3. 5.50 Ui UTrodT areal.
RO, SRST HIUI! UTuarE SICo! el Hdl 3ot Alel S0l 3fdhaR— BRI &,
DHOT (T, HoT). R DG [ohdl THAMHRUERDT GIdT H& KAl aral TOHET HRA?
TR SHBERNRN HSGIN HIRT! Al [GOT T TR T FTR B 2

Q 38 Mere silence does not amount to fraud — Discuss / -j,{-la oH BUe hHdU[dh gid el
greR A BT

57



Q 39 Sonu induced Monu to buy his motorcycle saying that it was in‘a very good
condition. After taking the motorcycle, Sonu complained that there were many defects in
the motorcycle. Monu proposed to get it repaired and promised to pay 40% of the cost of

repairs. After few days, the motorcycle did not work at all. Now Sonu wants to rescind
(cancel) the contract. Decide whether Sonu can rescind the contract? / ?ﬁ:ﬁ ﬁH’@T RIE]]

JAGIH MR A HICRAIH TR 3D Y SHGATH! dhR Hol. A ol goid Her
YU TG fGoT ST gosdiean WAt 40% <udrd Ra- o, ®lal fGasi-

ICRAISS AG0! Alel. Al ST IR IE (I5) DT 318, I, IR JE I
[ dl BT o SRAT?

Q 40 What is Appropriation of Payments? / G [AfaNT Ut H1a?

Q 41 What is the Liability of the Joint Promisors? / Ggdd ORI S1fia S 311g?

Q 42 A coolie in uniform picks up the luggage of R to be carried out of the railway station

without being asked by R and R allows him to do so. Examine whether the coolie is
entitled to receive money from R under the Indian Contact Act, 1872? / TTUARMTATS Tdh
$ol R 7 7 foaRdl Y¢d RIFSIERR A0St R d M Idadl 3101 R A6l a8
FHRUGTY TRATT Sl HRT TS FHIaT, 1872 aid Fo 161 IR Hg- Uy HauarE
SHIYBR 318 BT d TUTHT?

Q 43 X agreed to become an assistant for 5 years to ‘Y’ who was a doctor practicing at
Ludhiana. It was also agreed that during the term of agreement X will not practice on
his own account in Ludhiana. At the end of one year, X left the assistantship of ‘Y and

began to practice on his own account. Referring to the provisions of the Indian Contract

Act, 1872, decide whether X could be restrained from doing so? / x ﬁ@'ﬁm:n Y Yide
HROMT Slaex SR ‘y * BT & TS TeTHD §IUaM TgHd! Got. HIRTA
PHroradid X SIS Tad: 21 WATaR IR HRUR ATe! Alava! Teddl o1, Teh]
JUTT SR, X 7 'Y' I ETHHUG ASS ST W T JTATIR WRG H& GNTOT.
RO BRR HIAGT, 1872 T ARe a1 HaH GH, X BT 3 HRUATURA G A0 BT
8 3XdI?
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Q 44Y holds agricultural land in Gujarat on a lease granted by X, the owner. The land
revenue payable by X to the Government being in arrear, his land is advertised for sale
by the Government. Under the Revenue law, the consequence of such sale will be
termination of Y’s lease. Y, in order to prevent the sale and the consequent termination
of his own lease, pays the Government, the sum due from X. Referring to the provisions

of the Indian Contract Act, 1872 decide whether X is liable to make good to Y, the amount
so paid? /Y e TORIGHA X, o fGoaddr reuglar AdeEE 318, X §R
WPRG] ¢ S ST THI HEYS YBATDIGR G, AT ST IRBRA fashIarat
SRR $e! 38, Hege SREAR, 321 fawar uRomy v =t 3 Igumd 358, v,
faest JrquaraTat ST AT WA HTSUET WgPTd AUATIRIA JGuaral, X o ¢
IFHH RBHRGT Gd. HRAT TR HIIG, 1872 T Rl JeH T4 X Y &1 AT
FRURITS! TATEER 3TE DI Aol & 33dd, IAD] IGDHH [Go?

Q 45 Discuss the case of Harvey V/s Facey /Eﬁ A5G T UHRUMRl Taf &

Q 46 Discuss the case of Mohori Bibee V/s Dharmodas Ghose./lﬂﬁﬁﬁ“qpf favg Jtsiranedo) 1}
T YHROM! T B,

Q 47 A, an Indian, contracts to marry B. A is already married - a - fact of which B was
unaware. A break his promise in course of time. Thereupon B brings a suit against A for a

breach of contract. A pleads that his promise is impossible of being performed as the law

of the country does not permit polygamy. Can A get away with plea?/ A, T YR, B
2fl SU HUYME HIR HRal. A 14 faaifgd 318 - a - Sl B @1 @ifgdl degdl,

PHIGTARM AT g ISl AR B HIRET U Hego A favg weat s
SRTTIT HIIGT TgUAETTST IRAT G THSI AT a4 YUl BRI ST 378, MM
fa=idt T ¢ oA g 2rdd 12

Q 48 Distinguish between recovery of Possession u/s 5 and recovery of Possession u/s 6 of the
Specific Relief Act, 1963./ 5 300 AT/ JAUTG 30T faR1Y Had HrIal, 1963 3+ 6
3idid AT QAU AT R Rl

Q 49 A appoints B as trustee of his property with specific direction to give the property on
lease for five years. B enters into a contract with C to lease out this property to him for ten

years. Is this contract specifically enforceable?/ A B &T Tl HIGHd fazawd KU U
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JUINTST ATGHTT HTST@IaR cuareT faRy Adamig Fgad #vd. g AT6Hdl 18T <8l
JUITST HTSIH UM B C ad HRR Bl 81 IR (=9 BN HRUGRNY T8 B2

Q 50 "As a general rule the court will not direct the specific performance of a part of .a
contract”. Comment. Is there any exception to this rule? / "HTHII g BU[d UGy
PRI TebT HRTTAT fafR1e SR Fdz1 HrumR Al fewoht, a1 aareT S1gt siuare
3{Tg BI?

Q 51 A contracted in sell 50 acres of land to B. Later on, it turns out that A is the owner of
49 acres of land and the remaining one acre belongs to C who refuses to sell. The one acres

of land was not necessary for the use or enjoyment of the 49 acres. Can a specific performance
of contract be granted? / A 50 TR STHIF B &1 {AH TR HIR bl 3178, R 31 [ 311
BT A BT 49 THR ST HIG S 3MTg 3101 IR Teb ThR C AT HIGH I 375 Sl fdhUar
THR dl. 49 TH THIH ITURUGIST fdval SUHNTUITST Teb Tohr STHIA 3MTa=eeh Togll.

PR fARTY BT AR H3 913 Fhd D12
Q 52 What do you understand by the doctrine of "feeding the grant by estoppel”? /

"TEUGGR 3 GU" T RIGiagR JRI61 $1I JHed?
Q 53 Specify the circumstances under which specific performance of a contract cannot be
enforced./ PIOTT IR BRI fAR1Y SHrEucHART HGaSau] ol o 2Hd

ATel d Ay .

Q 54 What do you understand by cancellation of instrument? / s&gﬁl'c g hed JRIA]
DT FHGI?

Q 55 Explain what is Declaratory Decree? / GUTTAS FSoh! U B o TP HR?

Q 56 Explain what is Injunction? / SoTaRM TEUTS BT o WY HR?

Q 57 Distinguish between Mandatory Injunction and Prohibitory Injunction/ ffard 3z
30T wfde T TGN TATd B B
Q 58 Explain "Rescission of Contract”? / "WEW" Y hRI?

Q 59 Explain "Rectification of a Contract”? / "B ﬁm" Y Hh]?

Q 60 Atul contracted in sell 50 acres of land to Babu. Later on, it turns out that Atul is the
owner of 29 acres of land and the remaining 21 acre belongs to Chahal who refuses to sell.

Can Atul file a suit for specific performance of contract? Can Babu file a suit for specific
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performance of contract? / 31(1@3 4o TH STHH CICQ) fAB UM PRR DHET. AR 3 I(?‘A;Id
3T P 3T R TH S AT HTG D T8 O IANR 22 TH g0 HIGH Tl 318 Sl
f[APUaR FHR dl. 3o HIRTAT fARTY HHRRINIE! o GRS B Ahdl BI? d14
PRI AR SRS WO TRIG B JAdhdl BI?

Q 61 Anil appoints Suresh as trustee of his property with specific direction to give the

property on lease for five years. Suresh enters into a contract with Mahesh to lease out this

property to him for ten years. Is this contract specifically enforceable? / e Qj?il@l Al

HTG AR fazawd U e ®Rd! 301 AIeHT UTd auiTéT Hisaxarar quareT fafry

G, X2 HeRIEd 8] ATGHTT &gl U3 HTSATEIaR GUaTdl HRR HET. BT HIR
faRId: ST HRUARNY 3HTg T2

Q 62 Mention any three Contracts which cannot be specifically enforced? /?ﬁmﬂﬂﬁ G|
PRI ST DRI 1] [aRId: FGISTAuf B! TS, FAdhd Ala?

Q 63 Explain the case of Lumley V/s Wagner/ cg#c\b %G dTTd UHU1 WY

Q 64 Mention three circumstances in which the Court shall refuse to grant Injunction. /=
Q 65 When suit u/s 6 cannot be filed by the Aggrieved Party? / POH § Wﬁ%ﬂq&ﬂﬁq
GCO] ahOE;I G4 HET SIS 2D '_‘ITEPT?

Q 66 What is the time limit of filing suit u/s 5 as well as u/s 6 of the Specific Relief Act,

1963. / WRIfhp RSTH 3laT, 1963 T HEH 5 dUT 6 AT WEDT SIS HRUGT

ARG REIRS

Tort Law and Consumer Protection 9IMCQ)

1. Who is the opposite party under CPA?
A. {c}The person against whom the consumer complaint is filed
B. The consumer
C. The legal representative of the consumer
D. Complainant
I LR R CAU AR CRPIRCA Y
A. SIS GG B ADRGRITDHI31TE
B. dledh
C. MEHTATbRCRIRYf e
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D. dopRalR

2. When can the forum direct issuance of corrective advertisement?
To improve literacy

In case of deficiency

{c}In case of misleading advertisement

All of the above

R. HAGURTHABSRIAD USRI BRI dl?

a QIERATGYR TS
b HHRIATSEI
AR G E R IR SRR EACIERI)

d aad

3. Complainant means
a. State government
b. Voluntary consumer association
c. Legal heir of consumer
d. {c}All of the above
3. TPRERTUN
a AR DPIR
RCERCIIRERS R
¢ AEHTATDHIGRIRARY

d aad

o0 o

4. Who of the following is not a consumer?
A pays premium and takes a fire insurance policy
B pays court fees and institutes legal proceedings
C buys 2000 quintals of rice for export
D undergoes minor surgery at a hospital for Rs. 83,000/
a. Aand B
b. {c}Band C
c. CandD
d. OnlyC
¥. T TAUD P IURTEHTRI?
A HifrgERareiorsifaamaeried
B AT RIedh HRA T G RIR P I dTe R RIThRdl

c fafdardt2000 fHeadigm@adiand
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D GREUNATAIh S [BRRABATBIA. ¢3,000/-
a a 3ATMTo
b B 3{1foIC
¢ ¢ 3ATTd

d thddc

5. Which of the following is BSR?

Lok adalat called by MTNL

Customer care cell of Banu Biscuits Pvt Ltd
Customer relations officer of a Bank

{c}All of the above

5. WTHTUDIBSR HIUIATATR?

a MTNL Aeldidadicld 3arerd

b IS IR cfaffic SaTh iR 3R
N CEDIRE R EREIREAR

d RId

o o o

6. What can be the subject matter of a consumer complaint?
a. Defect in goods
b. Deficiency in service
c. Excess charges collected
d. {c}All of the above

6. UTEHTATADRITANITIBTI SRIRIH 12
a ATAHEGY

b YT HAR
¢ STER[eh g d
d

7. What is not a public utility service?
Railway

LPG

Telephone

{c}Service of vehicles

WW@W@W@?

bQFITﬂTrﬁ
CQEEFﬁ
CIRRIEIRE

o0 o
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8. Dr Karuna Patil is qualified in homeopathy and is practicing for the past 8
years. She is prescribing allopathic medicines as her patients are poor and
allopathic medicines are less expensive and easily available. One such
patient of 43 years who reported to her for fever and was under her care
and treatment for 15 days passed away. Which correctly identifies the
legal implication?

A. Dr Karuna has discharged her fundamental duty of serving poor

B. Dr Karuna has exercised her freedom of profession guaranteed under
the Constitution

C. {c}Dr Karuna has been negligent per se

D. Dr Karuna cannot practise homeopathy
8. SI. HoUUICIR U STed SR8

G| 18 B3 G 19| B GaRI | Ao

NENEREIEL RINREESEIRE AR S ERRY U N EIRS EII E IR E R
SRR ageS USSR . 43 TSRS R UTATH T T,
S fdATaTa S TATs T35 feaafa=argaRgareigiar.
DIUAHTRICRIR LIRS B G ?

a. ST, HRUHITREE TR U I AP T AURATS 31T

b.&ll. ST, HIUHRIIICAdg G Al oaaHTaRaTd TR 3Tg

c. Bl. DIV GAShIBSIUUTh ¢T38

d. SIHIUMBI AU ARRIGH = I d-TeId

9. The latest CPA came into force in
a. 1986

b. 2022
¢. 2021
d. {c}2019

9. TAFdHUTEHUREUIBTIGTH HISHHATI3d
a 1986
b 2022
c 2021

d 02

10. False or misleading advertisement is a punishable offence with a
penalty of
a. Rs 2 lakhs fine
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b. {c}Upto 2 yrs imprisonment and fine which may extend to Rs 10 1akhs
c. Minimum 3 yrs imprisonment
d. Rs 10 lakhs as fine

10. GielfharleRTYAPRURIS B IARIG S A RT3 Te ST TRI&T | - -

2 QARG IIGS

(oS (cf o [ .
b 2 dNIL{CI(‘Id'JIQIOIIHG'ﬂﬁflO dlRgxYd4dddiqs
C ﬁbHI"B de‘dIdJIQIdI{-I

d 10 AESUUCS

11) Within what time a consumer complaint is to be filed?

e P ahRGRATHRUITA [ ICTaE TR DRI ?

a) Within 3 years from the date of cause of action
(o AN

d’)lqdlsldd)NUIHI{j;‘léa'ﬁﬁ?QT\?ﬂH

b) (C} Within 1 years from the date of cause of action
(ol [a¥inY

d’)lqdlsldd)NUIHI{j;I‘(_qTﬁ?qT&ﬂﬁ

c) Within 6 months from the date of cause of action
(ol [aWaY o

DIYdTe D RUTURAGHIG HT<T3HTd

d) Within 2 years from the date of cause of action

HTIATE B RUTARIR AN T3

1) UTEDHAHRGRIADIVIATHI TG UTUTRADRT 2
) PRASATHRITATARGIRT3 THATHTT
)
)
)

1
a

o

PRARATDHRITATARVURA 1 THTATT
PRARATHRUTATARVURA 6 AT
PRARATDHRUTATARCURA2  TH AT

Q

0.

12) Who of the following is not consumer? ulsorw?luwlé‘n

a. Who take paid service TS TIATIUIRT

b. Who promise to pay for service 13@é'U?3I'IaTJIT'FIé'UTRT
C. Who made part payment WWW&@E
d {C} who take free service G daardarerd

12 ) UTBHHIUHTRI 2

. DRSS TRATIUTR

. DA TITRaIRUIRT

v 1B R B E A e R R G |

in - N N (a} N
SUIHHh dHATU TS Hcd

0O Q O w
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13) Which of the following codified law is not concern with law of torts?
@|m|mum|m|U|d|m|qQ|s|&mwﬁﬁmwamﬁ¥Wf€lﬂmﬁ

a) Consumer Protection Act ‘/iIsObHQ&IUIOqudI

b) Motor Vehicle Act HICIATgTHIIG]

c) Workman Compensation Act d)IH‘IIQjOb{-II'-I‘J-I'\"CIWET

d) {c} Indian Penal Code uwélaa’sa’l%al

13) WTAAUB BRI RdaGHTIGIe ¢ aTh TR s erd-Te! 2
&Imlmqmlobluldlwlqdlsl&mﬂﬁﬁﬂm

) UTEHIREUIHTIG]

) HlcdIgIH1ag]

) BITRRATIHAHRUR GG

) URAIOG SR

Q

o)

Q

0,

14. 1. Consumer rights are defined in Consumer Protection Act, 1986
2. Consumer rights are not defined
3. Consumer rights are defined in Consumer Protection Act, 2019
4. Consumer rights are defined in the Constitution of India
Which is the correct answer?
2 isright and 4 is wrong
{c}1 and 3 are right and 2 and 4 are wrong
4 isright and 1,2,3 are wrong
1 and 4 are right and 2 and 3 are wrong
14. 1. UEHIREUIDTG], 1986 HAURDHEIHURHINdb AR
2. UgHedhURYINdbdaHTRId
3. UEHIREUIGIG], 2019 HAURHEIHURUINdb AR
4. YRARISTI AT b g deh 14 [ RATH R UTTA 3HTc 1 318
SRITRITRDIUI 2
a 2 aﬁm&ﬂ%&nﬁrkﬂaﬂ%&ﬂ%
b 1 3013 SRISRSATEASU2 3014 Ihd3Med
c 4 RIS, 2, 3 JbId3Ted
d 1 3frs RISRSATRASHM2 3013 ebld3med

o 0 T w

15. e-commerce means

a. sale of electronic goods

b. commerce in computer and its products
c. online purchasing

d. buying and selling in malls
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EE AR

(el Q

a Sﬂddll"lcbdkj\tlll donl
b TOTh A OIS TS H AT O

c ATTAETERE!
d AicaeRadIsmasst

16. A product liability action can be brought against
a. product manufacturer

b. product service provider

c. product seller

d. a or b or c as the case may be

16. IAGAITRENUATERBRATS B SIS, b d
2 JATGAHHT

p JATGAYaTIGId

c3dTGATdehdl

a afdan fharc SHsRa

17. What is the punishment for manufacturing spurious goods if the act causes
death of a consumer?

a. maximum 7 yrs imprisonment and fine

b. minimum 7yrs or upto life imprisonment and minimum fine of Rs 10 lakhs

c. life imprisonment and fine upto rupees 5 lakhs

d. death sentence or life imprisonment and fine of rupees 10 lakhs

17.
SRUGTH AT U8 B AT AR I A AT TS T IET3TR 2

a AT L EANEIR RS

b fPAM7 TEfhaTHSUSNOTRAN10 TRPIICS
c SFHSUNMI5 ARIPIICS
d ggcsihare sy drRavudcs

18.The mediator has to prepare the settlement report and forward it to which
of the following authorities?

a. District Collector
b. Central Consumer Protection Authority
c. High Court
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d. {c}The concerned consumer commission
18.

ARSI a3 B aTAqaRBRIATATOTARA e Tt [ T UTTUT bR UM S U
&drar?

a foregUsRl

b HATUEH UG IS0

c AT

d GefIduTeH3manT

19. Remedies that the consumer commissions can provide to a complainant can
be found in which of the following provisions of the recent CPA?

a. S.14
b. {c}S. 39
c. S.56
d. S.101

19. N N N N QO o . [ A
AT D HTANTdD R GRTATSI SUTT @ H R dTd d 3 cdlh S[AUTe h HRETUIh [ ql=HRdTcf[¢U
DIHIUTATRIG A BRIDH AT ?

a S.14
b S.39
@

d

S.56
s.101

20. In respect of Mediation of consumer disputes which of the following is
correct?

a. not part of CPA, 2019

b. was a part of 1986 Act

d. parties to a consumer dispute will have compulsory settlement through
mediation

c. {c}consumer commissions can direct the dispute for mediation if parties
consent

20. TEHAfddgAmERIAN cHaEIatd b A 3R 2
a UeHIRUIGIE], 2019 ATHNHTGT
b 1986 ATHIIATIHTITRIAI
o [al . o\ C O N\
c UTehadlelaiauei-THaRIgRAIMadISHIeaIdr

d TEHIANTHai-IAd S arafdarereaRiad N RIderHdrd
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21. In which of the following judgements the SC clarified the applicability of 1986
and 2019 Consumer Protection Act?

a.{c}Neena Aneja v Jai Prakash associates Ltd

b. Horlicks Ltd v Zydus WellnessProductsLtd

c. Pepsi Co v Hindustan Coca Cola

d. None of the above

[al A0 N o\
21. TEAUDIPIUTATDBIATSC 11986 3012019
TG DR E VBT AN RIS B A1 3HTR 2

a. SIS GTIUDIR
b Horlicks Ltd v Zydus Wellness Products Ltd

SRS CACAH I
22.In an action for the tort of negligence, what is not required to be proved by the
plaintiff is that
there is damage
duty-situation arises

{c}breach of duty owed to some one
breach of duty owed to the plaintiff

fSh TS SIUUTATRRATS dith aid [T G Ul H-TTs [ UTol
a P3G

b BHa-uRfRYdRHuE

c HAAEICHITLAITATCH

q Trafdaredarseraa

coow

23. What is meant by ‘actionable per se’?
a. Actionable only in the civil courts
b. A tort of strict liability
c. {c}Actionable without proof of damage
d. Actionable at the instance of the injured party only

‘actionable per se’l%'fﬂm?

a HIBIEAUNATAATdBRATS B

b HoRIMAMIAUHtort

IR AT RIANRIAAH RATE BRI

d HIBRAHTTHTINTUITaRETH RATS HRAS

24. . An act of negligence involves-
a. {c}Recklessness
b. act of god
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c. Assault
d. accord

BRI PG e R )
a2 SUals

b CaTdipRult

C gl

d THHd

25. The new consumer Protection Act received the assent of the President
on-

a. 9-July 2019

b. {c}9- August 2019

c. 9-September 2019

d. 9 October 2019

5. dITITEhHREIUIBITARIY U S AT

2

a 9 Ja2019

b IANTRER0R

c 9 UFR2019
d 9 3HaeidR2019

26. ‘Goods’ under Consumer Protection Act, 2019 means-
a. Movable property not including food

b. {c}Movable property of every kind including food

c. Immovable property only

d. Movable and immovable property

26. TEHIREUBRG, 2019 SIS
a STHHTHTSEHIITTE!
p WIEHaUG RS ATAH]
c HASTIIHTCTHT
d STHSTOSTTHHTH
27 The Central Council is appointed by-
. {c}Central Government
b. State Government
c. Consumer Redressal Agencies
d. Supreme Court

Q

EZAR LI CANERCREAVIE I
2 PERPR
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b ASYYIDh[
c UTEH-aRUTS]
d gai==arrey

28. Jurisdiction of State Commission is-
Upto rupees one crore
{c}Above 50 lakhs and below two crores
Upto rupees ten crores
unlimited
W&Wao‘rcfaa&ﬂ%
a L,Obobldlbqi—llhlbld
b WO ATIROIGHDICTUaTHH
@
eI uadd
a srruffed

29. Who is not a consumer?
a. One who buys the goods for consideration
b. One who uses the goods
c. {c}One who buys the goods for commercial purpose
d. One who buys the services for consideration

o0 oo

CADIREEIHE

a SCARTaRERG B

b SITHTATIRGl

SR |21 RS R R R RN LR |
d

30. What does CDRC stand for?
a. {c}Consumer Dispute Redressal Commission
b. Child Development and Rehabilitation Centre
c. Community Dispute Resolution Centre
d. Citizens’ Disaster Response Centre
CDRC RUNIHII?
a UEHIAdIGHaRUISTINT
b wﬁwe—nﬁm
C HlﬂdllqcblddIQHQIObQUld&

d ARSI HIGD S

31.Compounding of offence under CPA and receiving settlement amount will
amount to

a. conviction
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b. discharge
c. {clacquittal
d.bandc

e H IR UIBTIGI S A RIS SR e e HUTEI DR Ulg Tkaay 3T

a aHl

b Had
cﬁﬁqﬁm
d b 3foic

32. In Donoghue v Stevenson what was the wrong?
a. Negligence

b. Malicious Prosecution

c. food poisoning

d. false imprisonment

STAd G g T TH BT h T 2
a HresSigun

p gHigATguRgea

c SrATaTETYT

d WIeTgeTard

33. Contributory negligence may lead to

a. dismissal of the suit
b. proportionate reduction of compensation payable
c.{claorb

d. neither anorb

ANTGHTHD S B UUTH SIS I
a GCANSHBGHU)

b GIHRUSATIHIUAYC

c a mb

d a fdhdm A&l

34. Negligence consists of which of the following?

a. existence of a duty of care
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b. breach of such duty
c. consequential damage
d. {c}all of the above

P TSIUTHERAT U [ [T HTART 3] 2

2 Pl AHIATIH KT
b MRMHdATIIII

c URUTH G
d Taad

35.The rule in Rylands v Fletcher is also known as

a. {c} Strict liability rule
b. Absolute liability rule
c. No fault liability rule

d. Partial liability rule

S AURIERANAATH | U A3 aarsiTd
a DHORGIIEHTH

b HyuiaafTas

c AVGIRIEHIHATG!

d SifRIbeTRIaaH

36. Nichols v Marsland identified a

Rylands v Fletcher
a. {c}defence

b. remedy

c. application

d. all of the above

in respect of the rule in

Mo Icde ARt ST RIS H dvG iR A g g Hidsia
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d Ragd

37. S C applied which of the following in case of collapse of a clock tower.in

Delhi — Delhi Municipal Corporation v Subhagwanti
a. {c}maxims Res ipsa loquitor

b. Res sic stantibus

c. Volenti non fit injuria

d. Res judicata pro veritate assipitur

el ST TaIC IR KI5 UATTETSd [RAT U [ 0T S ARl -

ﬁﬁﬁﬂ'gﬁmﬂﬁwﬁﬁwﬁ?ﬁ
maxims Res ipsa loquitor
b. Res sic stantibus
c. Volenti non fit injuria
d. Res judicata pro veritate assipitur

38. Leading case on ‘Damnum Sine Injuria’ is- ‘S HAATSASINAT AT CSTUTS [AUDHRUI-
a. Chesmore v. Richard JHHRA. RS
b. {c} Mogul steamship Co. v. Mcgregor Gow & Co. ARSI,

c. Bothaandb 3{3||Ia|aé|%|
d. Stanleyv. powelﬁmrqﬁa

39. Legal meaning of the word ‘Battery’ is- Fe qwm&[ﬁ 3"%

a. Cells as used in torch, tape recorder etc. 19, CURD ISXITG FGUFATIR ATSTUATEd
b. Battering a person to death Wﬂ?‘ﬂﬂlﬁm

¢. {c}Actual or intended striking of another person G-I AIAR (e (b aATE G RITAUI

d. Assault resulting in, at least 6 months hospitalisation HIUTHTcch g ¢, HHIdDHH 6
o\
HlgxUllddldalRdd

40. 'Negligence is culpable carelessness'. This view point was expressed by-

a. Pollock U
b. Halsburyg%’ﬂaﬂ

c. {c}Salmond qreHs
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d. Winfield faaftheg

41. ‘Spurious Goods’ means such goods which- ’{ﬂ&q{'l{ls\{'l’ J-EiUI\;\I\?ﬂ{-IIJ-IIQ'1\;I-

a. {a} Are falsely claimed to be genuine I IIAICTE T ATl

b. Are fake in nature ﬁi‘l‘l?dd"lldd&llé('i

c. Belong to someone else Wﬁ@ﬂ%
d. Are dangerous to public health Wefﬂﬁwa\lq?ldqu93ﬂ%d

42. Maxim ‘Injuria Sine Damnum’ means-ﬁ%ﬂq ’é\{llﬁiql‘{‘ll‘é"lsv‘;ll-l’ J-SUI\‘:‘I-\—

a. {c} Violation of a legal right without any damage
CbIUICIE;I'jOD‘{-II"I"IOINCIIC*)ICIQQIIQ3'|ﬁICbIQId\$(‘t'1‘bI"Id‘NUI

b. Violation of a legal right with damage 6I¢1|G€$Iq32i|€3{f€|m€|3c_vi‘a:r

c. Damage without violation of legal right Wgﬂ?&rngORI'adCﬁu#a?vqlaldlqjd?HH

d. No damage and no violation of legal right JPUMIHATHTIGRIR HTABRITI e aTd eI

43. If a person willfully and without any lawful justification uses the goods of another person in such a
way that the person who is actually entitled to use and possession of it is deprived of it, he is said to

commit
RO SIS TR T b TG R S e R g a=ared
FTA IR SR D R ATIR IS A ol [ TR AT ST T U TR [d b B R el

a. Stealingw

b. {c}Conversion XTI U
c. Trespass 3ffdeh AT

d. Detinue%ﬁq\

44. "No man can have any right to represent his goods as the goods of somebody else." A person
committing such an act is said to commit-

"I HTUT T THTHTRTEIS AR e [ UTT=ATR HTe A e R Uae b R 3yRreh

a. Deceit PUC
b. {c}Passing off RT3
c. Felony?!%l

d. Misrepresentation ‘C\J,OI’J‘\I'-C\N-I IC'(‘{‘\IODQUI
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45, Accordmg to BIackstone _______issomething that causes hurt mconvenlence or damage

RIPEITANG, _ SeRIMy R gaIud, IR ar e are!d,
a. Trespass 3ffashHur
b. {c}Nuisance 3U%d

c. Negligence frspIs Sy
d. Deceit hUC

46. An unlawful interference with a person’s use or enjoyment of land or some right over or in
connection with it is known as-

TE R G FATST A AT TIRId [ A3 U H R b aTeTeaTaR [ aT T S eTdeS b TR IRE

&y RUHAS{ @G-
a. Trespass 3ffaspHu

b. {c}Private Nuisance QoA 3ugd

c. Conversion T UIdRUT

d. Trespass to land SIHaR3ifdshHuT

47. An injunction in which a defendant is supposed to repair consequences of any wrongful act he has
committed is called as-

gfddTd b eI 1UTcTe e [T AT R UMTHG S bR Ul 3O T d S el e T AT RITeT
TEUIdTd-

a. Mandatory injunction mm

b.{c} Mandatory restorative injunction Gﬁaﬁmﬁﬁiﬂlaﬂ
c. Mandatory enforcing injunction HléQllé'Wamew

d. Restorative injunction me}ﬂaﬂ

48) Explain the principle applied in the Wagon Mound case 2. a"T@'_{'{ 2
gcld
a. The test of foreseeability of damage &@aawm%ﬁwﬂmumﬁm

AN N

b. The doctrine of Res ipsa loquitur {Hsb{-lﬂll cikdlld c&id
c. Substantial damages

d. Test of non foreseeability of damages WWW@E}TH

49) Scienter rule means what?.{-llqlr'\CQbﬂ*sUl\;lcblq?
a. Volenti non fit injuria dicI—ClIqI% CoxId]

b. {C}Dangerous propensity of animal YIS RATGIHUHTT

c. Absolute malice
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d. Absolute liability JUISTETEGRY
50)Explain the expression “Innuendo”. sﬂs”@%ﬂm

a. Publication in news paper déHI"N?IChIdLIObI-‘%I"I

b. Oral defamation
c. {C} Hidden meaning quaararef
d. Defamation of female @EHHHSI;H

51) When does the principle of “Contributory negligence”is applicable?

o\

HIREACAR AP IEISCERININERE
a. {C} Where the one party has duty to take care and other was negligent

SRR TR IS U T o 3HTR TG URTT & TShTes o U AR

When only one party has duty to take care GIOGIH?OHQWH&H?W‘&W@WH@
Where both the parties are negligent \;IOSIC:I'GGI q&lﬁ%lw\ﬂr\qull'}Idl‘ldld

d. Third party did not took care

o

52) Choose from the option glven below Rylands Vs. Fletcher is an appropriate case of ------------
MﬂSHIdbc&qﬂCdQ'éI{qmquﬂ —————————————————— ﬁl@?ﬁ?&ﬂ

a. {C}Rule of strict liability Hddldl\ﬂdlddlﬂdld>IQQl

b. Rule of malicious prosecution §HTdﬂIgddGCMIwIﬁqH

c. Damnum sine injuria

d. Actof god
53) Explaln the maX|m “ Qui Facit per alium Facit Per Se”.

a. He who do not work SITTHHIIATE!

He who in fact works W&IW

c. {C} He who works through other works for himself

SR ATHTHS RTINS T dIdRad: BB AN AT HSTeToTd
d. He who works for other works for himself

SR S AR THA A R TS T hTHDR
54) Prescription, Distress, Distress damage feasant, are examples of which

remedies 76 MBI IDR, TN, TSI HIUTS 8 U3 UATHS GIERUI TR 2
a. Judicial Remedies
b. {C} Extra Judicial Remedies RHIU™
c. Both Judicial and Extra Judicial WWW@WQW
d. Neither Judicial nor Extra Judicial remedies <IN 3 Uil W@Wﬂfﬁ%ﬂﬁ
55) What is trespass? (s HURGUSI®IT 2

a. Lawful entry HICRIRUA

b. Unlawful entry
c. Lawful entry later on abused due to

nonfeasance BIIGRIRVARI ‘\Iidc‘fﬂij\ozad>lqa2nidid\l
d. Unlawful entry later on abused due to

nonfeasance SHTICRIRYARIRATTHS BTGB

56) What is false imprisonment? WWW@UW’)
-

a. Person was wrongfully imprisoned qudlﬂlgcblwll—{& |3|géu|dc|or>€1uc‘1

=3
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O\
b. False charges of imprisonment FHRIENIRIRAIC R
c. {C} Person’s liberty to move in all direction is restricted

Y

d. Person’s liberty to move in any one direction is restricted
FITATD U IS fRIAIaRaE Iy
57) Guille v Swan is related to which principle? T[CHTa oG TR B IUTTIG IdaR TR ?
a. Trespass-ab-initio
b. Nuisance 3Uxd
{C} Trespass NIREZE

d. Actofgod

o

58) What was the cause of action in the Six carpenters case?
C [a I
a. Nonfeasance PIALTHJHR D g [h U]
{C} Misfeasance

b.
C. Malfeasance ]%%IW q-I"'Imﬁf
d. None of above aﬂaﬁﬁwwmﬁ

59) False defamatory statement in some permanent form means--------
BTG E YR CHGATHI PRI ATGIGUIS - -

a. Slander AIRAP FEATH!

b. {C} Libel TEISGTH!

c. Libel and slander both@@ﬂﬁlﬁm W@a@

d. Neither libel nor slander AGfdbal HIRIH aﬁmm

O\

60) Define “Res Ipsa Loquitur’ "SISEATANDG R "FGUSIHT

a. Things do not speak Uﬁ@mﬁaﬁﬂﬂq@

b. {C} Things speaks for itself uRfRUdraa:aikiy cﬂqamq\ma
c. Verbal defamation
d

respondent ‘s liability TfdaTG dISTETEGRT

61) Which defence is applicable in Dann v

Hamilton?G11d0% G 8 [eeTh gD U Tdar gl ?
a. Act of god gat g
Self defence TTTREUI

b.
c. {C} Volenti non fit injuria a’lé%‘lﬂ”lqlﬁsasgliql
d.

Judicial act PTAGHITBTIATE]

62) Which principle is underlying in Kasturi Lal v State of U.P.? dn%gé\lﬂlﬂ iae»cg\s.tr.
IIRGRAY PRGN bl gld?
o (ol o
a. Judicial acts P [dDh[Ud]e]

b. {C} Sovereign functions IraqHeRe
c. Malicious prosecution Q"“—I{H:IW_C'@T

d. Volenti non fit injuria

63) What is Battery? TeR¥GUISI®HIT?
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Unlawful laying of hand QWWIWW

Slightest touch to the body of person
{C} Actual touch with anger
Causing injury to fighting limb of a person Udd[UTI e\ 3HIIdHIgETUdG U]

a0 o

64) X played a practical joke. Due to which plaintiff suffered with mental shock. X was held liable.
This was decided in which of the following cases?

RIS YFH RIS AT AT A R AT 131G 2
a)  Guille Vs. Swan TR dSGdM
b) {C} Wilkinson Vs. Downston iafc?cbr%lﬂia@&s\fﬂ%dﬂ
c)  Ashby Vs. White 3TRafdSga@ETsC
d) Cashmore Vs. Richardson tISZIH\Niab&i\QdSPH"I

65) What judgement was passed in the Six Carpenters
case?, TERIARRATHIHA GBI UTI ST,
a) A perfect case of trespass HSIﬁdIQIWIHd%IIHW&H@I
b) {C} Not a perfect case of trespass ab initio WWTWGWUT
BIC I GEIGEIT]

C) A perfect case of trespass-ab-initio

{-ISI{-LCINICLIIL—IOI-{IN-IHQHHI{j\ﬂd&IdeUIHHUqu&Hﬁ

d) Not a perfect case of trespass Wwﬁwaﬁmvmﬁwm&nﬁqﬁ
66) Name a defence available if A, a surgeon who undertakes a difficult operation? R[¢d-
fafrd® 3 THSIMB RO R H ANTe RATe AU [ U aa 3 T s 31Tg 2

a) Act of state W
b)  Quasijudicial authority -G HA

C) Judicial authority
A 0 U « W "2 N o
d) {C} Volenti non fit injuria G IICIIqIP covixId]

67) Which principle was involved in a case of Rex V/S.Newport?

?
a) False imprisonment W

b) Remoteness of damages c\;,ilfcltlI'}I'\-J;Jl”{-lI'-I‘J-I'\"CI'I_'Qc
c) Nervous shock A& YadHT

d) {C} Parental and quasi parental authority BIRER U RPN R EIEIREaR
68) Identify the correct combination from the following. Weaus [arguaiaasT.

{C} @) Dann Vs. Hamilton (i) drunken driver case SHdSGgHee ; §.0b"|§lsd{8b{-l

b) Burnard Vs. Huggies (i) foreign tort dﬂTSrlrab&E;“cl\IH: ﬁé’?ﬁm

¢) Rex Vs.Newport (iii) volenti non fit injuria?{Hiab&*ﬂ\q\lé:os\f\'cnl"l\f"lithcsﬂgﬁnlqI

d) Cassidy Vs. daily mirror (iv) chapel bell case ¥ =

69) Where can the principle of “Innuendo” be used? aﬁm’?
a) {C}In defamation cases SeH G-I

b) In false imprisonment mﬁﬁ
©)  Inaccident cases SUUTATATDIHE

d) In mental shock cases AT YaRITATH GHED
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70) Identify the extra judicial remedies from the following.
&Idlidﬂﬂlqm%—Iqulqwquﬂg?

{C} Remove nuisance WT@FW

Passing injunction orders Hﬂlég‘;qb*MRddNﬂ

Order to pay compensation jd?i-ilﬂ‘l-liqlsrdl&ﬂw
Send in prison

a0 op

71) When the suit for malicious prosecution be made? QNLj\UIr{gCﬂIOI?Yj\IQI{QNOMdIad\I?
N o o .

a. {c} After acquittal from criminal case WIvigiRIRdceid-AlTcNHaddlAdled[dxR

b. After acquittal from criminal case on lack of evidence

B ISTGRRICTAYRTATHHIA TG THFAATeATT AR

c. After discharged from civil proceeding ﬁmvﬁawaﬁgaam

d.  After granted bail STHIMUTEI TR
72) Which of the following case is related to negligence?
?

a) {C} Chasmore Vs. Rlchards

b) Hall Vs. Brookland auto racmg club smlqb&wms&m
¢ Tinsley Vs. Dudley ICfHﬂldbc&_gSﬂtl

d) Byrne Vs. Boadle I

73) What is meant by Respondent superior? W@WW7

a. Only Respondent is liable Lbdrl&li?idlcz\l\rldlddlix’rﬂ%
b. {C} Master is liable for the wrongful act of servant

BRI TS TS TG R 3]
c. Master is not liable for the act of servant

d. Master is supreme than servant HIQ1¢6I:|6H0Id'-|\IdNIL\4&IIdtdW?h
74) Vidyawati vs State of Rajasthan case related to which liability?

ICI?JIOICIIION’cSNI\quIﬂQIUqIEi@{'Id>-2II{'IGIhﬁ3‘ﬂ%9

a. {C} Vicarious liability SIRIATIHIATHUS AT ATIHOIATEGR]

b. Defamation

c. Trespass NIREEL|

d. Consumer Law UTehhTdql
75) Detaining a cattle till damages caused by cattle is paid off is known as

what?- RIS IR IH A HE IS T R ATATSATd S U T UTdTd 2
a) Damage feasant '

b) Distress feasant f&xcafthiie

c) Distress damage%@ﬂ@'ﬁ\_ﬂ

d) Distress damage feasant%@ﬁ@ﬂﬁw

76) What is Vis Major? dIHSRGUSI®
a) Carelessness

b) Actof God ddlp
C) Trespass\’rﬂ?rWUT
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d) Act under the control of human being Hlddgl\eﬁqmdqoctl

77) In accord and satisfaction 'satisfaction’ indicates
THHA ARG A" &2fad
a) AgreementdIR

b) Consideration Ufdhe

C) Operation$r€f

d) Execution 3fHISSTauft

78) Wrongfully detaining a person in custody means what?
kTl AU TSI UG Urel b g ?

a) Conversion¥=UidR0l

b) False imprisonment@ICTISTaT

c) Trespass

d) Malicious prosecutiongufdﬂlLj\UIr{qc«IItllﬂdU\l

79) Trespass on land means what? SRS AR ARG USIRTa?

a) Wrong entryﬂﬁ?ﬂ'ﬁaﬂ

b) Justified entry
c) Permissible entryTRATIARIYAY

d) Warrantable entry SLIENIMCRE RN CE

80) Which one of the foIIowing 1S npt the mode of discharge of
tort?%Tel U I UTdT 3 U T S TSI R U TG aTa 2

a) Death of either partyIUTTS &,

b) Waiver

c) Release Hﬁlﬂ@ﬁf

d) {C}RatificationH-IdIl

81) Brown v Candell is a case which involved,
SIS dd oo UDHRUH LD VARG AR [ T 3HTg?
a) Volenti non fit injuria @AM eg <RIl

b) Mistake of law BRIETHID

c) Mistake of fact ?ﬂﬁfaﬁﬂ?ﬂ%
d) Parental and quasi parental authority UTAIb3HTORERIUIASHI AT YRR

82) Maim means what?ﬁll-l#sulxﬁdvlu?
a) Touch to the body of person TGIHTRRRTATEIR B0l

b) Injury to the fighting limb of person otlddnld-llcksléwwil|Ic1|g<9||l~ldd>w\l
c) Injurygdidd
d) ImprisonmentdSTATy
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83) In boxing competition Mr. A injured his ribs, thls is a case of
what? ST TRITRA S dReR T AT ST ETIARId, BHTITDRUIATG?
a) {C} Mayhem YIUTUTdh g el

b) Assaultgcddl

c) Battery UglR
d) Non of above

85)Which of the following is an example of
trespass?@l?ﬂﬂamafaw-lulladdlGQUI&H%?

a) Entry of postmenUReHTATIAT]

b) Entry of stranger without permissionww&ﬁawm
c) Entry of guest '

d) Entry of police

86) The maxim, “Ubi Jus Ibi Remedium”, implies Ubi Jus Ibi Remedium"

grEar 31 FT 3R

a) That there is no wrong without remedy 3UTITTRIGTI SHIUTATEN Tk TN
b) That there is no remedy without a wrong IRIRIaT 34T =ATEY

c) Thatremedies are available only in a court of law 39T therd hIACIATT

SATATATT 3UcTsY 31Ted
d) Whenever there are rights there are remediessicgl Siegl JRR JTdT
degl 391 31g9drd

87) Rex Vs. Newport is a case which involved 38 3. #gGIC § Tl

a) False imprisonment @IeT ?:WWI‘H

b) Mistake of law SHrIeITdl Ih

c) Mistake of fact SEIIEUCT T

d) Parental and quasi parental authority 9reles 31TT0T 37¢T greler 3SR

88) The Wagon Mound case 2 applied--ddll #ATSS FH 2 ...... ded [celel
318,

a) The test of foreseeability of damage F[ehaT=T=dT JaTeTATHT =<0

b) The doctrine of Res ipsa loquitur ,Res ipsa loquitur T fereaor

c) Substantial damages #{1d [T
d) Test of non-foreseeability of damages FhdT=<AT 3ﬂ\'c‘|ﬁ€ﬁ BIELI
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89) X, has a right of way from B’s land. X is enjoying this right for more than
23 years, this known as what?, B =T SIfAsiIel HAET HGUATRT HEHR 3Tg.

xaaﬁwwaﬁ@mmmm,wmw?
a) Tort of trespass 31fasa0T

b) Tort of nuisance 39gd

c) Prescription T &Hee

d) Tort of negligence fasdhrsiaoT

90) If X commits trespass on Y’s land what remedy can be granted?= Y Tr
SITAAE TIHATT el T TR HIOTAT 39T el A3 Ahal

a) Damages sshdTsT

b) Injunction 3Teer

c) Both damages and injunctions gleg! I HleT 3TTOT 3MTSer

d) Neither damages nor injunctions=IT sish&HTsT =T TS er

91) Chasemore Vs. Richards,is a leading case of

a) Rival school

b) Voter was not allowed to vote

c) A banker did not honour a cheque

d) {c}Where percolating water was drawn off by powerful mill

92. When the statement of the person can be held defamatory?

NI EIERI B B B MBI CARCRCRIBENE

a. {c¢} If it lowering the dignity of the person in the estimation of the community.

b. If it causing pecuniary loss Mlﬂ&&ﬂfﬁd?jd?ﬂlﬂé\ld&ﬂc’ql‘{‘l
N Y [od [aY [al
c. When it is offensive to a reasonable person. \ﬂOGIdeHIHI'quddlﬂlélerﬂm&r\qﬁ.

d. Expose another person to physical harmSRAg U IARIRING UG raad 3 d
93. What kind of wrong defamation is? W@U@WG{@?

a. Civil wrong
i\ a
b. Criminal wrong WIviGIXI{IXP ] c.

{c! both Civil and Criminal wrong WWEW

d. Moral wrong
3. State the essentials of defamation? SEATHIASTIIH AT ?

a) {C! Statement must be false lﬂm@%_@ﬁ
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b) Statement must be written mﬁf@ﬁ@'&f
c) With lawful justification W@Qﬂﬁ@ﬂﬂ%ﬂ?ﬁ
d) Addressed to defendant UfdaTe MG are

94. Defamatory statement in some verbal form means-------
A

_ A e UG P RHGATGIG U -

{C} Slander e St

a
b. Libel
c
d

Libel and slander botha@mmﬁm@
Neither libel nor slander AG1pal TP aamﬂlél%l:llél

95. Truth is a valid defence for what of the following?

R MCININEEIERIRIFEER NI

a. {c} defamation A

b. Trespass S HT

c. Malicious prosecution gﬂ-ﬁaﬂTq;Uf@?ﬂT
FrspIaSigun

d. Negligence

96. What is required to take defence off of volunti non fit injuria?

AT H AR ?

a. free consent Wﬂ?ﬁ
b. knowledge of consequences uRumariarfgd

c. consent to risk

d. {c} all of the above CRINEE]

97.Judgment of the court is one of the modes of

torts. FAMATCRATT AT g1 3ehear-—--—- HIE 377g.

a. Justice system =IfA% cTqEAI
b.  {c} discharge #&d gror
c. Justification =a1fd& HROT

Defence dd1d

98. Where is innuendo applicable? sFéfI’E'E‘ff ?i% eITd] grar?
a. Negligence TSI

b. Trespass 3Tfasha0T

c. {c} Defamation SGaITAHT

d. Nuisance 349gd

99. Gloucester Grammar School case is relating to which of the following?

TIFEST AT AMDAT hdH WTelTeThT Hmel Faefia 31e.
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a. {c} Damnum sine Injuria SATH HS SeagRAT

b. Injuria sine damnum S=ogRAT AS SHAH

c. Caveat emptor iU TFIe

d. Respondeat superior IHUl-aIC in)‘elﬁ'é?lT

100. No remedy can be claimed in cases where involved. ST
ITCE D1 — T AT AT AT =R 3UraASTaar 39T &dr Ad ATg.

a. {c} Damnum sine Injuria SHAH AS STl

b. Injuria sine damnum S=ogRAT HSH SHAH
c. Trespass ab-initiol ¢TI T SfATRAT
d. Damage distress feasent A 3F¢H fhdc

101. Absolute privelege is a good defence for which of the following?

IR &1 @relterdeh! SHemell Haftrd s=na 3me?
a. {c} Defamation SGaATHT

b. Malicious prosecution aﬁqgﬁ Gcell

c. Negligence fasahragsir

d. Contributory negligence *Trcflegci\l GEISISERS

102. What is accord and satisfaction? asdls&nﬁmw&nﬁf ?

a. {c} Way of discharge of torts

b. Remedy

c. Court proceeding

d. Arbitration

103. There was a car racing going on and the plaintiff was a spectator of that race going
on the track belonging to defendant. Two of the cars collided leading to one being skidded
towards the spectators as a result of which the plaintiff was injured. Which defence can

be available
here? TG IIDHGRIBIGUHDRARITTIUIRITS N AT I ARIA AT SRIATTG b RUGHB AT
TG B AT S UH IR DB A TABRAAN G TS GH b Gl N GRCR A
YD AT TATIHTARIG I

a. {c} Volenti non fit injuria T\'C‘\I"I"Iﬁbdi'\{l{‘\lql

\J

b. Respondeat superior 3R

c. Mistake of facts fERC®H 3HTHhac
N
d. Inevitable accident CIAd[HYUNRAYYUTd

104. A rider aged 18 years encouraged his 16 year old friend for driving fast under
drunken state. The vehicle met an accident and they both got injured. Their suit for
compensation was rejected by the court. Identify the reason.

U1 3BRIAN AT A AT B [y a S T AT b RATAa U3 Mg (ol T [da
. IATHRATS T

a. {c} Plaintiff themselves were wrongdoer aﬁ%ﬁlﬁaﬁﬁ’r\’:ﬂ%ﬂ

b. Both plaintiff and defendants was wrongdoer aﬁ&ﬁmﬁaﬁﬁ‘aﬁ?ﬁﬁﬁ&n@
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c. Volenti non fit injuria Oév nl"l"IIUDCiS'\ﬂ{IqI
d. Statutory authority FACRRIARTBR

105. When the defence of act of god cannot be taken? ddl?ﬂﬂqtﬂdd’)\lﬁaﬂﬁm
a. When human contr1but1on involved in loss.

\3106|J-II"|dI'ClI'j,0|°{-II"IIJ-IledHE;IE;N'IGHI‘I"N'I(‘II
b. When natural calamity is not the only reason for Iloss

c. When loss could have been avoided \;Icﬁljd?%ll"ldlw(‘lladﬁllwa

d. {c!All of the above CRNEE]

106. The defendant had fixed spring guns around his garden by puting notice and thus
the plaintiff, being while entering suffered injuries and brought action. Whether any
defence is available to the defendant?

uﬁaﬁﬁwmwﬂmm?ﬁ%—cﬂ—eﬁwﬁm@mﬂm

gl I dUdRIBATIdIS SSTAdIe HUfdare faSG aldlg Raddh dl.
qﬁaﬁwvmmwmmmﬂﬁaﬁéw

{c} Private defence Td-IR&MUT

Protection of property B RIER A Y]

No defence is available

Volenti non fit injuria %Tél'él:lillbﬁasﬁilql

a0 op

107.In what circumstances the entry into another’s land without permission is not held

as trespass?
PIUATIR R dRIATSIR [aR AR A T =Ih Al 3RIdTS s AU IdTa 2

a. {c} Rescue operation Wéﬁlw

b.  Delivery of articles GTHMGUITITA

C. To take back own goods lies on another’s land
SRIATSATUTAUS A d: U TS
d. None of the above W@%ﬂﬁ

108. What is Actio personalis moritur cum

persona QA aUIHTA RTHNICXBHUI G IS I ?

a. {c} Personal rights of action die with
[a WY [a) Y .

person. dedId{QII\YI‘IIC’rIﬁICbIQ(*AIId‘IIJj&IHIdqudId

b. Personal rights of action not die with

person. SHAIIAMTS I ABRATATTIH S IT6 [T

c. Person enjoy his rights even after his death &AM YBRYGAAR G aIRal

d. Dead man will die with him Jdoddd I8 BTN GTTHRd
109. What is the waiver? W?

a. {c} Giving up the rights SIBPRAIS!

b. Claiming the rights
c. Managing compensation

d. Negotiation in compensation
110. What is the release? el W’?
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a. {c} Mode of discharge UG ATITHIIG VATATAN]

b. Publication
c. Defence in defamation G- IHnl i.a g 'dnl.'d [ddld
d. Defence in tort SUPA ST

111. The word tort has been derived from the latin word

TIERT TG DIV ARG TUNAHIUTTATSG. ?

Tortum aicH
Tortus E'\I%ﬂ

Torts 9
Delict Sfcrae

112. The maxim “De minimis non-curat means-
{c}Slight harm ATSITHHA
No justice for incorrect petition SATTRIGAT3 =ATaTe!

Exhibition of disrespect

Annoyance ARIGT!

113.Wrongs are divisible into two sorts or species,” private wrongs and public wrongs.” The above
distinction was made by-

ECIEFRPEINGICEIE I B EEE Ay E RN i EUE R U RIE T B Cae ca
ELNESRCEAVINIURK]

{c}Blackstone KB
Bentham S§=JH
Salmond ITHS
Pollock OTdld

114. There are various wrongs which find their place both under criminal law and law of torts
SRISAH YDA AT AN UFTR ST R TGO R b S a3 el

Assault defamation negligence and conspiracy UITdTddh gt anTHl, Fshresiaunaiiihe-s R
Assault defamation and negligence HTUTIIdh g ¢Tdl, CESIGIRINIEL=ACS )]

Assault defamation negligence conspiracy and nuisance HIUTHTdhgcadl, !, Fspresiigunde-
HREYFBIUSOEUST

{c}Defamation conspiracy and negligence EE_*I'I":i)f, NERERIINIBLSICR I

115. In the law of tort the remedies

available are-

HATARTATH IS YA SIS U

{cHudicial and extrajudicial WW@W

Executive and nonjudicial FHAGRISMOTR-ATRS

Executive and judicial HRIGRISORIRTRIA

Judicial non-judicial and extrajudicial TRTTIIR-TRAIG SATOTTATETE

116. Which of the following is not a valid defence in tort?
I AUD Ip U ICHE A YRR TR ?
{c}Scienti non-fit injuria qurc‘]ﬂld-f?hcsﬂugﬂul

Volenti non-fit injuria Bl It c s TRl
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Vi's- mamr%ﬂﬁﬂ?
Consent THa!

117. The main supporter of the theory, that “it is a law of tort “ and “not law of torts” is -
N GINE| | B U U G B CA L A T | R R FeA S SR e R R e A I T
{c}Winfield fa-Tfthes

Salmond ITHS

Fleming TATHT

Heuston %W

118. Which one of the following is not an exception to the rule of “voluntary non-fit injuria” ?
M- e g A HHRITe U e uTdTeIaTeTe ! ?
{c}Injury is caused while play fighting with naked swords at a religious function
oC [of [a WY n—
Ud[<ldTHp pIdep HIdAddddRINIdddedIHIgdIUdelUl.
A surgeon amputates a limb of patlent to save his life.

Injury is caused to a player in a football match g@mﬁw@wmmm@m@ﬁ
Injury is caused while doing lawful acts under a contract WWWWM

119. The general remedy in law of tort is-

{c}Action for unliquidated damages &@Wmﬁzﬁaﬁmﬂé
Action for damages E’Fﬂﬂ'l?ﬂ?ﬂ?ﬂ'l’s:

Action for injunction

Specific restitution of property Wﬁﬁﬁm

120. One of the following is a good defence for the tort of private nuisance?
o 0 o o 2N o )
.{QIUI‘IldHQOLIIﬂl@OOdNUqI‘{'IIOI{9|IQ'1IQ'1LIOhIQOPtH‘Iﬂldﬂld&ﬂg?

{c}The activity is continuing for the past 20 years A 20 mﬂ@
Plaintiff has come to the place of nuisance ﬁo‘qfa"lwaammllﬂ—e’mm@

Reasonable care was taken to prevent nuisance EIR Y M ESI RN EISEEICSIESNICIR
The activity is for the public benefit B UHHAIG AT RT3 13TE.

121. The act of unlawfully entering into another’s property

constitutes. GH-ITCAT HATTHTUA ShIICRARIUT JART FIUGTHT el
IR g

a. Trespass R IGET: I

b. Restraint I

C. Appropriation ICIGEILI

d. Encroachment ShTIGT 9l 0T
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122. Which of the following is an example of trespass? TTelloTdehl
HIOTA HTIHHUIT 3GTEI0T 37T8?

a) Jeevan walks in front of Raj’s house, staying on the sidewalk. SiTdet

PR g AT TRIAAET dTelal.

b) Hari hunts on Ram’s land without Ram’s permission. While there,
joy shoots one of Ram’s cows, mistaking the cow for a deer. Ram sells

his cows to make a living. 80 JTHTIT RATIIMNIAATT TATIT aagfﬁai
fRIPR &hTal. A AT, JTeialel AT §I0T HHS[ AT
AU THhTell M AR, 3eIfAdgrarer IH 3Tedr AT
ICETIE

c) Sarita borrows Luke’s car after Josh asks Luke to run to the store to

pick up some milk. ST ogehell Y HUITETST gohlald Yrargell
ARTTeATH A ARAT ogehdll SR 3UR Ed.

d)Radha walks into Mohan s house, who has invited her over for

lunch. 8T AT T S0, ST fAor SIgumardr sieiaer gia.

123. The law of torts provides following remedies against trespass

SIEEAT el GHERNITIEeY Wrellel 3UTd YeTel el

Re-entry and action for ejectment ﬂ-t’a 30T §T8Y HIGUATATS!

Action for mesne profits AL AFITST aﬁ'

Distress damage feasant sJhdlAhRS TJEIH! 3chavolr

All the above dIoT Flé'

124. Trespassonland means _ entry upon the land of another

STfAeadier 3fsheA0T FgUTSl ga-aTear SIffsllay ___ 9aer
a) Wrongful W

b) Justified «d1T

c) Permissible GXdTeTdil 3T

d) Warrantable gresd

.cLO.crogle»
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125. Which of the following scenarios is not a trespass to land.

FTeiTeldehT IOTAT IRIELAT SATHAGR ATAHATT O ATET.

a) Throwing ball into your neighbour’s garden. dHTIT QSIT=ITAT
ST T3 ETehul.

b) Walking across your neighbour’s garden without permission (_:ID?:I?CIT

QST dRId GRATTINTRIary fhior

c) Cutting the branches of your neighbour’s tree which are entering

your house and putting them over the fence into their garden. JH=IT
ISTATT SIST<AT BT dIsul 30T FYOTAR AT Satd
CTehl.

d)Allowing an apple tree to grow over your neighbour’s fence into their
garden JHTAT ASTATAT FYONAR ATAT FEId TS HATS dTg
gor

126. Who is responsible for the act of tort against movable property.

STITH ATIADAY ATIR FIUATAT FHATETSN HI0T SIS 3T8.

a) any person does any act like trespass to goods a?rm‘cﬁ%‘r okl

b) conversion or try to convert the possession of the movable property
of another person without his consent gd-IT cFArar FAAIET
cITT SOTH ATAFATT FUTcR fohdT Tl dTedTd Seaodral S

$IOT

c) wrongfully tries to disturb the possession of the movable property of

another person without his consent aﬁlcal tl'ctﬁl?-ﬁT-T qu-a
STFATAT ST HATHTdT ATl ATl GACRIGT 1 GuITdT

Oced Il
d)all of the above
127. tort against property includes: AT A TcATARTASY %’

HATISE 31Te:
a) tort against immovable property FATd{ HATTHAAAY IcATAR
b) tort against movable property STITH ATIFAAAY 3cATAR
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c) both a and b a 3707 b Gleal
d)only a, not b BeFd a, b ATE!

128. Trespass to land is also an offense under which section of IPC ?

SITAER ITAHHATT IO &7 STl [PC TIT VAT FHoAATETell
el 3Me?

a.  Section 440 shelH 440

b.  Section 441 shelH 441

C.  Section 442 shelH 442

d.  Section 443 SholH 443

129. Trespass to property may be Committed HATeT#Fax 3ffashaor
el > Ahd

a. By entering the land of the plaintiff. AT SATHATT Jaer
h&a.
b.  If a person remains there. UErgT cgadr fad Tfgelr oX.

C. By doing an act affecting the sole possession of the plaintiff in

each case without justification. e o ¢ar g gRona
fthaiérear TehAd dredray IRUMH SHIURT Sl .
d.  All of the above ailel Td

130. Trespass is an unwarrantable entry upon the land of another or
any direct or immediate act interference with the possession of land

defined by whom? &I qa-aTaT SfAGT 3rarerdr yaer Mg fehar
VMR IRATVA SheledT ATHATTIT ATeATHEY FIUTART AT fhar
dicehlcs BT 31Tg?

a) Winfield [a=1{thes

b) Salmond qreids

c) Ratanlal YdeTellel
d)Street ¥IC
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131" Negligence is culpable carelessness “. This viewpoint was expressed by

whom among the following?/ frprSiyun fAhIE ST HUaTy J&H
31Tg BT view foig oINS BiaT 910 ot |t Taudb!?

a) Austin/ e
b) Pollock/ OTclidh
c) Halsbury/gﬁ‘:l_@l"'f
d) Salmond/ﬁ@q

132 Which one of the following statement is correct regarding

negligence?// Q2. FshTSIUUETEd WGl BTG fau SRisR 3MTg?
a) Negligence has been considered as an independent tort/

a) FISHTEGIYUIN BT Ueh Tac= SIATIR e Tl 3178
b) Negligence has two meanings in the law of torts/ fAspT U g1 3

torts T BT HTed.

c) Negligence means a conduct which creates a risk of causing damage, rather

than a state of mind/ FIShTEBSITTUT TEUTST 3=} OICICUJ\Gb ST TRaTe] fRUcigent
IH U I0gT YT FHI0T vd A,
d) All of the above/ I3 Id

133. If A gives a lift in his car to B up to a certain place and on the way due to
negligence of A an accident is caused.

Which of the following statement is correct?/Q.3 WX A A AT TTSId B &
e Tt fere et oifor ared a =1 FAsphressiyumes Siadrd e,
AU IV [T SRISR 318?272

a. A has no responsibility towards B/ AT B WWWW
b. A has no legal duty to take care of B/ AETB#TWWW
WWW:IT@

A has a legal duty to take care of B and is liable for compensation/ A Il
ﬁmwmmmwawm@mm

d. All of the above/?llﬂ?fﬂ_qc
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134 X wanted to purchase Y’s car and was driving it to test it with Y seated by
his side. Because of X’s negligence an accident happened in which the plaintiff,
Z, was injured. ‘Z’ sued ‘Y’ for damages the most appropriate

Decision from the following will be.......... /Xl YEﬁWﬁWWEﬁ?ﬂ 31O
Y AT JTS[ell S AT ATeroft Suarral <t ardad gidr. X &

FISh TS TUUTES U SU9Td T SaTd Ui, z, SRaw) Sel. 7/ 3 'y &R
Gedl YR Jaid a7 69 . Jetadd! (g gsd....

a. Y is not liable as X was driving the car for his own purpose//Y Sd[d IR
'_‘||é| D [RUI X <dd:=d] 3%3”31 [R dicldd gldl

b. Y is not liable as X was not the servant of Y./ Y SId[dqIR '_'Ilé| PRUTX Bl
Y T Hdh Tegdl

C. Y is liable because he had not abandoned his right and duty to control
the way in which the car was driven./ Y STSTEGIR 3{Tg HRUT AT a1 AFTIAR
=0T Squaran O SfIHR S0 B Aisd ATl el ATadd gl

d. Yis liable because X was driving the car for Y’s purpose/) Y Sd[dqlR \’rﬂ%
HRUI X HR Y AT I ATiad gidl

135 What are the essentials of the tort of negligence?/ Y.\. BLEACNIPNIE
IR JiIQI d[Y Hlod?

a) Duty, Breach of duty and Damage/ opcfoq, HAT ST &ﬂﬁ[w

b) care taken by an intelligent and prudent man/ gIIR 37107 fadent Ao
ERENICAC]

c) Skill and care of a professional person/ IR aie IRy 0T

CACEl
d) foresight of a prudent man/ fgde! ATUTRI §€€§|

Q.136 Who defined “’Nuisance is the wrong done to a man by unlawfully
disturbing him in the enjoyment of his property or in some cases in the

exercise of a common right?/ Y. 6. ""3Uad Ul TAT]T HIUTHTA]
IHACRIRAT T & chaieh g =1 SRSAT HIvTt dHell 318 ATl
AT SUHIT Ul fdhal BTet UHuNHE QrHg HTUHR dTuur?

a) Winfield/ [a9Tthes
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b) Salmond/ ITAHS

c) PoIIock/thFlvﬁ

d) Austin/ 3

Q.137 Which one of the following amounts to Nuisance???/ U.9. “@T’ﬂﬂﬁﬁ

DTN YHIUTd SUSd gidl??

a) Every unreasonable interference is nuisance/w WW@ET
3Usd 38

b) Every reasonable interference is nuisance/!«l@lcb dIUIOInI smeau ouxd &ﬂ%

c) Every interference is nuisance/ H(QIOb S%d&}lq vuxd &ﬂ%
d) None of the above/aﬂﬂww :Ilé|

Q.138 What are the essential ingredients of the tort of Nuisance???/ Y.C. are
3% IJUGATd AT Ucdh HIUId Tgd???

a) Unreasonable interference/ Wgﬁé’q
b) interference is with use or enjoyment of land/ ST AR fdhar SuHT

g gEI&Y BIl.

c) Damage/PIld
d) All of the above/ aﬁﬂﬂé

Q.139 If some noise which do not disturb or annoy an ordinary person but
disturbs only the plaintiff in his work or sleep due to his over sensitiveness,

which type of nuisance is this???/ UH 9. WX Oblsnl 3TaTST of AT HTHT
Tl AT & ATgId fdhdl AT & ATeld URd dacd dTgldl ATedl hTHTd
fehar e SifaEideTeiicaye U SISUGT TUTd 3l ok 8T BIur
JhRAT IUSd 31g?2??

a) Public nuisance/ TTaSI-d UGS

b) Private nuisance/ Qo 3Usd

c) No nuisance at alllﬁmw:ﬂﬁ
d) None of the above/aﬁﬁaﬁmﬁﬁ

Q.140 Public Nuisance is an offence punishable under .10

HTael-e SUSd g1 fIe uTs 1T 3118 .
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a) Civil Iaws/wm

b) Criminal Iaws/ﬁmw

c) None of the above/ Wmﬁm
d) Both aand b/aﬁﬂma &b

DTQs on Consumer Protection
1. What are the rights of consumers?/ ";I'I?ﬂv‘lﬁ edd Pl Gﬂ%?l’?

2. Explain the three-tier consumer dispute redressal mechanism./ AH-TR1g e fadig
[BEIRUKELIRSISER

3. Discuss the powers and functions of the Central Consumer Protection Authority./ C-{]

e TREJUT UTTABROM SUBR 3Mf0T S Ti=h ==t .

4. What is product and what is product liability? / 3Ic IBUTS 1 31U TG Gl

P 3TR?

5. What is mediation and how is mediation employed by the CPA? / T WU S ST
YT UREU DGR HHRN BRI ST 0Tl Sid?

6. What are the remedies available in case of consumer disputes?/ UTh A EEIMEIEIEEE

PHIUd IUT IUA 3HTed?
7. Who is a consumer and who is not?/ WW &H%' 3(TfOT BT :ﬂ'eﬁ?

8. What is service? Are public utility services within the scope of CPA? / TdT OIS H1?

TP TRE&UI HIILTAT Had Jrawi-ies ST T T8 P12

9. Explain unfair trade practices./ &jfad AR Ugal Y ]

10. What is deficiency in service? What are the remedies appointed under CPA? / Jad

HHWRA B 3HTe? UEH TRV SN e dbeid SURI BT 3Med
11. Write a note on the consumer protection councils./ T8 TR&ful uRugiar &y forgr.

12. Discuss the exceptions recognized in a product liability action./ 3l IR W?ﬁ

3EEed AT SUare! I .
13. Write a note on ecommerce. /%—Hﬁﬂ?ﬁ? g ﬁiBT
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14. How does CPA protect against misleading advertisement?/ ATgeh TR&UT H1IQ] IEQIIELFI
DHRUMT SIRRIATIRIA TR&UT B B/

15. What can be the subject matter of a consumer complaint?/ ATgh A1 SEINEIRCLREEDR

3 b al?

16. What is an unfair contract? / 3/ HIR BT G{I%’?

17. What are the objects of CPA?/ UTgdh TREUI SR G g D1 3HTed?

18. What is endorsement? When can someone be liable for endorsement? ‘v'l'q?ﬁ 1%'01@{ wIY?
DIV TS Heft SETEER 3R Xhcl?

19. What is settlement through mediation? / AARNGR TSI BN S

20. State the composition and jurisdiction of District Commission./ TR SRR =T SIfOT
HII& TR

21. What is BSR? How is it advantageous? / Eﬁ.@. 3IR. #SUI\Q B2 d HY Cﬁlqaiili Gﬂ%?

Torts
(DTQ)
22. What does accord and satisfaction means / JTHoRY HTfoT W%IF[F@'UI@[ Dh1Y?

23. what does “Actio Personalis Mortiue cum persona’” means / ‘Q?F“ZﬂGﬁ RIAFAN ARIER
HH YT WU D12

24, define malicious prosecution /Wﬂ%&’ﬂ? CAREIES %UIQ DhI1g?

25. what is conversion by destruction / TRV gfddq T|US B2

26. write note on Donoghue Vs Stevenson / feur forer SHT faveg g,
27. Define What is Tort? / €I 180Nl 19 o URHTNT &1 2

28. Explain the terms Malfeasance and Misfeasance along with a Case Law. / Tl

SIS TRUBR 30T TRYBR T TT WY B,

29. Write Short note on Six Carpenters case. / Hgl JdIX UhUINAR (¥ﬂ7ﬂ HRUC av{-l) Aiq

ferer.

30. What is Battery? / <] TgUNS &1 2
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31. What are Nominal Damages? / ATHHIA Jh 14 'J-RCI'I'QCW ern%?r ?

32. Write short note on Vis Major./ I AR R BI<I <y ferg.

33. Write Short Note on Innuendo. /@%ﬁﬂ??ﬂt{ 1%I_E!T

34. Write Short note on Liability by Rectification. | fGefthd = gR aIfi@reR <y forgT.

35. Explain the concept of Strict Liability with landmark Judgement./ ASHID STOTHCHE HoR
TR Hhed-T TY B,

36. Explain Discharge of Torts./ cl ‘:{-I Ir%{-dlxﬂrw h.

37. Explain Damnum Sine Injuria with case laws./ bd HIAYNIE SHAT I3 SRl
FHSITG i,

38. Explain Injuria Sine Damnum with Case Laws./ S DI $'§]_|§ql g2 SHTH
GG i,

39. Explain Difference Between Injuria Sine Damnum And Damnum Sine Injuria./ sTgﬁ'CIT
1 SHH 301 SHTH i SRar At e WY B,

40. Explain What is defamation. What are the two types of Defamation./ SGTHI TUS 1T d

WY HI. G G THR HITd 3Med.

41. Explain What is Contributory Negligence, Give one Case Law./ RIS
AShTeBSITUN BT 318 d TF B, Th HY HIal 1.

42. What are the different kinds of Damages Awarded under Law of Torts? / E’T‘&IWW
fafae TR TH PHIUd 3118 2

43. What are Extra Judicial Remedies? / 3fdRad <% IU™ BT 31|8c| ?

44, What is Assault under Law of Torts? Write Essential ingredients. / CT{»{-I CARDIGSIR
QIUTETd® gedl BUMS ®1 2 AT Alied fogl.

45.Explain ‘Volenti Non Fit Injuria’. / ‘glacl AiA-fthe @F{QT JESITG i

46. Explain Private Nuisance with Case Law./ HY HIYE WIoTl SUsd WP B

47. Explain Public Nuisance With Case Laws./ %Y HIIYE Aaoi-e JUGd WP B,

48. What is the Difference between Private Nuisance and Public Nuisance./ TToT I SUGd 3fTfor
HIOT\SIPIC*) JUsd TATd BT HIh GTI%
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49. Write Short note on Res Ipsa Loquitur./iﬂ Wl cflqblraq\{ CRGIPARE]

50. What are the General Defences Available in action of Torts?/ E‘I%E?EIT ?cﬂ'qiﬁ HHY
TRE[UT BT IUA 3R ?

51. Explain Rationale of Strict liability with reference to Ryland v Fletcher./ JdS R
iR T HEHId HR STRIET T Y B,

52. Explain defences available for Tort of defamation./ JeH! fave U TREUT TY .

53. Explain Defences Available For Tort of Nuisance./ 3U%d fav U TREUT WY .

54. Explain Concept of Malice./ 8T Fehed-T XY HI.

55. Explain Concept of Trespass ab Initio. Cite one case law./ aﬂuw 3Hd slﬁiiléﬁiﬁw
WY Gafdd HRIGT TR0 e WF 1.

56. Explain Distress Damage Feasant./ %@fﬂ S0d Wigle JHSTGA i,

57. Explain Concept of Trespass along with Essential Ingredients./ 3fcTaRTd UCHIG
CHUT! HeheT-T T B,

58. Write Short note On False Imprisonment. / ST &ITARITER Bic! <14 fefgl.

59. Explain Concept of Vicarious Liability in light of Master Servant Relationship. / HIcId

Yoo o= 9efdd fab e aiiar Yahedr Ty .

60. State the Requisites of valid Defamation. /3y AT I MPT I

61. Explain Theory of Remoteness of Damages. /( T gI&Idl )ﬁ'ﬁﬁﬁﬁ 3 SHOIRTT
Ry Ty &,

62. What is Meant by Waiver? Explain with example. / JaR RUMS HA? IG[EUMNE WY
.

63. What is meant by ‘Mandatory’ and ‘Prohibitory injunction’? / 3ffrard afor TS

S{IGRT TS B2
64. Explain ‘Qui Facit per alium facit per se’. / DI HRIT R ufergw TRIT RO WY A,

65. Discuss in detail essential elements of Torts. / ST HTTRIH Ycdhidl qURITAAR ddi
h.
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66. Explain Right to Private Defence under Law of Torts. / cTcinl CARBIIGRIIR o]
TREJUTTIT HTYBR Y B,

67. Differentiate Law of Torts from Law of Contract and Crime. / R HTf0T T=ITT PRl
30T CTCHAT HIIGT d TTcited WReb FI,

68. Write Short Note on Gloucester Grammar School Case. / TAIRIER JTHR I ¢ YhRUMAR

<y fergT.

69. Explain Defence of Act of God and Inevitable Accident, What is the difference between
them ? / <Al 0l (Tae 3 TTS) 3M1fOT Srafkerd SadTdre TReUT WY H1, Iiedrd H1
WD 3152

70. Explain Concept of Mayhem along with case laws. | B HIOGNIE MY Yheu- WP
Cy

71. Explain Rationale laid Down in Ashby v. White. / 3feret fovs OGI'-:SC b U] Y b,

Legal Language Semester | LLB 2022 (MCQ)

1. The Term in Re Means
a) In matter of
b) A person who dies without making will
c) By the fact itself
d) With the Powers

2. An individual who is under arrest must do all but one of the following
a) Give a name and address
b) Have fingerprints and photograph taken
c) Make a statement
d) Go with police

3. A bail application or hearing must be made available within
a) 48 hrs.
b) 24 hrs. from arrest
c) 7 days of arrest
d) 72 hrs. of arrest

4. 1.L.R. stands for
a) Indian Law Reports
b) Indian Law Report
c) Indian Law Record
d) Indian Law Result

5. L. J.R. stands for
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a) London Queen Reporter
b) London Queen Reports

c) London Queen Review

d) London Queen Revision

6. M.L.R. stands for
a) Modern Law Review
b) Modern Law Reports
c) Modern Law Result
d) Modern legal Review

~

L.Q.R. stands for
a) London Queen Reporter
b) London Queen Review
c) London Queen Revision
d) London Queen Reports

©

J.B.C.L
a) Journal of Bar council of India.
b) Jury of Bar Council of India.
c) Jury of Bar Commission of India
d) Jury of Bench council of India.

©

Vishaka & Ors. V/s State of Rajasthan was headed by how many judges
a) 3 Judges
b) 2 Judges
c) 5Judges
d) 1 Judge

10. Which articles under the Indian Constitution were sought to redress under Vishaka
V/s State of Rajasthan
a) Articles 14, 15, 21.
b) Articles 16,14,21
c) Articles 21,14,15(4)
d) Article 21

11. D.K. Basu V/s State of West Bengal deals with
a) Death in Custodial Lockup.
b) Sexual Harassment at workplace
c) Minors contract is void ab initio
d) Environmental Protection

12. Which advocate was appointed by the court as Amicus Curaie to Assist in the Case of
D.K Basu
a) Dr. A.M. Singhvi
b) Shri Ashok Kumar Joshi.
¢) M.C. Mehtav/s U.O.1
d) Kapil Sibal
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13

14

15

16

17

18

19

20

. How many guidelines were laid down in D.K. BASU CASE
a) 12
b) 15
c) 17
d) 11

. The Manager will give you Tickets (change into passive voice by choosing the
option)
a) The Tickets will be given to you by the Manager.
b) The Tickets were given by the Manager.
c) The Tickets had been given by the Manager.
d) The Manager had given Tickets.

. The Dog Chased the Cat. (change into passive voice by choosing the option)
a) The Cat was chased by the Dog.
b) The cat was being chased by the Dog.
c) The cat had been chased by the Dog.
d) The cat has been chased by the Dog.

. Richard Lost the Money. (change into passive voice by choosing the option)
a) The Money was lost by Richard.
b) The Money had been lost by Richard.
c) The Money was being lost by Richard.
d) The Money is Gone.

. Everyone admires the Professor. (change into passive voice by choosing the option)
a) The Professor is admired by everyone
b) The Professor was admired by everyone
c) The Professor is admiring
d) The Professor was been Admired

. The Magistrate will punish the Guilty. (change into passive voice by choosing the
option)
a) The Guilty will be Punished by the Magistrate
b) The Guilty was been punished by the Magistrate
c) The Guilty is Punished
d) Punishment is given by the Magistrate to the Guilty.

. In Jure Non Remota Causa Sed Proxima Spectatur means
a) Inlaw not the remote but the proximate cause is looked at.
b) In law the proximate cause is taken into consideration.
c) In law the Proximate cause is never taken into consideration.
d) In law the Proximate cause is relevant in cases relating to negligence.

. M. C. Mehta & another V/s Union of India AIR 1986, 2 SCC 176 is for the
a) Tax problem
b) Environment pollution
c) Women problem
d) Labour problem

101



Answers marked in bold is the Answer Key.

21 Requisites of a complaint are:

a. An oral or a written allegation

b. It must be made with the object that he should take action
c. It must be made to the magistrate

d. Onlya. Andb.

22. What is the full form of ILR
a. Indian Law Reporter
b. Indian Legal Report
c. International Law Reader
d. Indian Legal Review

23. Criminal law journal is a publication.
a. Weekly

b. Monthly

c. Quarterly

d. Yearly

24. 1 always love my country (Change into a negative sentence)
A. | never hate my country

B. I have my country

C. | can hate my country

D. I always hate my country

25. When the master is held liable for the wrongful of his servant, the liability
is called
(a) Strict liability
(b) Vicarious liability
(c) Tortous liability
(d) Absolute liability

26. Bailable offences are relatively minor in nature, whereas, non bailable offences are
more serious in nature.

A. True

B. False

C. Might be

D. Never

27. Which one of the following is not an example of vicarious liability?
(A) Liability of the principal for the tort of his agent.
(B) Liability of partners for each others’ tort.
(C) Liability of the master for the tort of his servant.
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(D) Liability of the parents for the tort of the children

28. They made him, the King (Change the voice)
A. He was made the king by them
B. He was the king
C. He was made the
D. He was the king

29.Mala fide means:
A. In good faith
B. In bad faith
C. Inutmost good faith
D. Man of Faith

30.A legal proceeding between two or more parties in connection with a civil dispute is
called

A. Suit

B. Complaint

C. FIR

D. Case

31.Act of God’ is known by the name:
a. Vis major
b. Damnum fatale
c. Vis major or Damnum fatale
d. Damnum sine injuria .
32.The maxim ex turpi causa non oritur action implies & means
a. from an immoral cause also action arises
b. from an immoral cause no action arises
c. morality and immorality is of no significance in an action for tort
d. both (a) & (c).

33.n which landmark judgment did the Supreme Court of India lay down guidelines against
sexual harassment of women at workplace?

a. Nilabati Behera vs. State of Orissa

b. Vishakha vs. State of Rajasthan

c. Maneka Gandhi vs. Union of India

d. Hussainara Khatoon vs. State of Bihar

34.Which of the following are courts having jurisdiction to try criminal cases?
a. Small Causes Court
b. City Civil Court
c. Metropolitian Magistrate Court
d. Consumer Court

35.A defendant’s written defence or pleading is called a:
a. Plaint
b. Affidavit
c. Written statement
d. Complaint
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36.Actio personalis moritur cum persona means:
A. A personal right of action dies with the person
B. Personal Care of citizens.
C. An action directed toward a Criminal for reformation.
D. An action is not given to him who is not injured

37. is the extent of the authority of a Court to administer justice.
A. Jurisdiction
B. Boundaries

C. Limitation
D. Complaint

38. Shivaji vs. Union of India AIR 2007 S.C. 1465 Identify the publication:

a. Supreme Court Reporter

b. All India Reports

C. Allahabad Income Tax Review
d. All India Reporter

39.A decree passed in the absence of the defendant.
A. An ex parte decree
B. Order
C. Judgment
D. bail

40.Rex Non Potest Peccare means:

a. Where there is a right there is a remedy

b. The king can do no wrong

C. No man ought to be charged with the same offense
d. People cannot protest before the king

Options in Red colour are correct options

1.An injunction which is granted at any stage of a suit is called:
a. Permanent injunction

b. Temporary injunction

c. Stay of suit

d. Stay order

2. To defer the hearing of a case to another date in court:
a. Order of the court

b. According to valuation
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c. Adjournment

d. Decree

3. Reconsideration of the matter before the court by the same judge who had earlier decided it is
called:

a. Review
b. Reference
c. Appeal

d. Revision

4. The term enactment means...
a. By virtue of office

b. Act of parliament

c. A liability of property

d. An interest in land
5. The landmark decision regarding custodial violence or death in lock-ups

a. Ashby vs. White
b. D. K. Basu vs. State of west Bengal

c. Vishakha vs. State of Rajasthan

d. Mazetti vs. Williams

6. Damage suffered by consent is not a cause of action refers to the maximum.

a. Injuria sine damnum

b. Ubi jus ibi remedium
c. Actus reus
d. Volenti non fit injuria.

7. A bail application or hearing must be made available within.

a. 48 hours

(on

. 7 days of arrest

. 24 hours from arrest

(e}
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d. 72 hours of arrest

8. Lawyers Collective is edited by
a. Ms. Indira Jaising

b. Manupatra

c. Mr. Tipugade

d. Mr. V. R. Manohar

9. They said that he was innocent. (Change the voice)
a. He was said to be innocent

b. He was innocent said by them
c. He was proved innocent

d. It was said that he was innocent

10. Very few countries are as rich as America. (Change the degree)

a. Very few countries are rich than America

b. Very few countries are so rich as America
c. Very few countries are better than America
d. America is richer than other countries

11. A writ which is issued by a superior court, directing inferior court not to exercise jurisdiction
which is not legally vested in it.

a. Certiorari

b. Prohibition

¢. Mandamus

d. Quo warranto

12. Written statement signed by and affirmed by a person on oath is called...
a. Adjournment

b. Verification

c. Affidavit

d. Suit

13. The right of a person not to be defamed or assaulted which is available against the whole world.
a. Right in rem

b. Right in personam
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c. Right in re propria

d. Right in re aliena

14. A wrong which is authoritatively determined to be wrong by a rule of law.
a. Natural wrong

b. Moral wrong

c. Legal wrong

d. Criminal wrong

15. .........is defined as a society of men established for the maintenance of peace and justice within a
determined territory.

a. Nation

b. Corporation
c. State

d. Organisation

16. It is a writ available to a prisoner in cases of a deprivation of personal liberty and wrongful
detention.

a. Habeas corpus
b. Quo-warranto
c. Prohibition

d. Certiorari

17. Buyer must take care when buying specific things is the general principle of English law related to
maxim of...

a. Caveat emptor

b. Nemo dat quod non habet
c. Vis major

d. Audi alterem partem

18. According to principle of vicarious liability a master is liable for the wrongful acts of his servants,
is fixed by the maxim of...

a. Caveat emptor

b. Respondeat superior

c. Rex non protest peccare
d. Audi alterem partem

19. S.C.C. (Cri) is a abbreviation for-
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a. Supreme court cases
b. Supreme court journal
c. Supreme court cases (criminal)

d. Supreme court criminal rulings

20. The name by which the Act may be called is...

a. Long title

b. Short title

c. Official citation
d. Long title
Answer key

1-b

10-d
11-b
12-c
13-a
14-c
15-c
16-a
17-a
18-b
19-c

20-b
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1)

2)

3)

4)

5)

6)

7)

TRANSLATE THE FOLLOWING:

audi alteram partem

a) One for another

b) Thing speaks for itself

c) Hear the other side

d) Party must appear in person
caveat emptor

a) Let purchaser beware

b) Let seller beware

c) Let emperor be careful

d) Be careful of the emperor
respondeat superior

a) Hear the respondent

b) Respondent is superior

c) Let the principal be held responsible
d) Law is superior

res ipsa loquitor

a) Actof god

b) King can do no wrong

¢) Respondent is superior

d) Thing speaks for itself
volenti non fit injuria

a) Help the injured voluntarily
b) Damage suffered by consent is not a cause of action

c) The law does not consider voluntary admissions as fit

d) That which was originally void does not by lapse of time become valid.

ubi jus ibi remedium

a) Justice is the best remedy

b) Remedy does not result in remedy

c) Where there is a right there is a remedy
d) Remedy results in justice

The king can do no wrong

a) Rex non potest pecare
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8)

9)

b) Res ipsa loquitor

c) Lux na pecare

d) Respondeat superior

Ignorance of law is not an excuse

a) ignorantia facti excusat

b) ignorantia juris non excusat

c) ignoranti excusamoi

d) lexis ignoranis

actio personalis moritur cum persona

a) Action of person results in death

b) Personal right of action dies with the person
c) Action of law is faster for some persons

d) None of the above

10) nemo debet esse judex in propria sua causa

a) No man can be a judge in his own cause
b) No judge can deal with property cases without cause
c) Judgement must be passed in debt case regarding property

d) None of the above

EXPAND THE FOLLOWING:

11) SCR

a) Supreme Court Record
b) Supreme Court Reporter
c) Social Cases Reporter

d) None of the above

12) MLJ

a) Maharashtra Law Journal
b) Mysore Law Journal
¢) Madras Law Journal

d) None of the above

13) AIR

a) All India Reporter
b) All India Recorder
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c) About India Reporter
d) None of the above

IMHITR
a) Income Tax Records
b) Information Technology Reporter
c) Income Tax Reporter
d) None of the above

15) DMC
a) Driving and Maintenance Cases
b) Divorce and Maintenance Cases
c) Death and Matrimony Cases

d) None of the above
READ THE PASSAGE AND ANSWER THE QUESTIONS BELOW:

The past month has witnessed several protests across the nation against the central
government’s controversial Citizenship Amendment Act. While the protests are a positive sign
— indicative of the nation’s united resistance against any attempt which threatens to destroy
our secular fabric — the response of the government to quell the protests in any manner
whatsoever is deeply worrisome. We have witnessed police brutality against students, labelling

of protesters/dissenters as ‘anti-nationals’ and excessive surveillance over areas of protest.

In what appears to be another attempt towards creating an ‘Orwellian State’, the police forces
have started using drones to monitor the areas of protest, with the Uttar Pradesh Police going
a step further by conducting an aerial survey of houses in several areas of protest in the state.
The UP Police’s justification for the survey is that drones help them ‘track and record’
movements of alleged ‘anti-social’ elements, and capture images of houses where bricks and

stones are kept on the terraces.

The government can only monitor individuals against whom reasonable grounds of suspicion
exist, that is, people with criminal antecedents. Therefore, the State’s monitoring of individuals
whom they suspect to be an anti-social elements sans evidence of their past criminal records is
a blatant disregard of the law. Sadly, the government is monitoring the movements of protesters

who have committed no crime but have only exercised their fundamental right to free speech.
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If the last month is any indication, there are chances that footage from the drones may be
misused to harass and deter protesters from expressing their dissent. As per law, the liberty of
an individual can never be taken away; it can only be reasonably restricted. However, it seems

of late that there have been no restrictions but rather the snatching away of fundamental rights.

16) The phrase "'quell the protests in any manner whatsoever' used in the above passage

indicates that the government is

(a) using legal measures to quell protests
(b) using illegal measures to quell protests
(c) using legal but morally wrong measures to quell protests
(d) None of the above
17) Assuming that surveillance of public places is legal, the above passage suggests that-
(a) terrace of a house is a public place
(b) terrace of a house is not a public place
(c) terrace of a house is a public place as it is freely visible from above
(d) None of the above
18) The above passage relates to-
(a) right to privacy
(b) right to free speech
(c) Both (a) and (b)
(d) None of the above
READ THE PASSAGE AND ANSWER THE QUESTIONS BELOW:

Khunti’s sedition cases go back to 2017, and the start of the “Pathalgadi movement”. Adivasis
who were faced with corporate takeover of their land resorted to an innovative form of protest:

they began to carve provisions of the Indian Constitution’s Fifth Schedule — that guarantees
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tribal autonomy — upon stone slabs placed upon the boundaries of the village. The first
information reports (FIRs) that follow allege that the police were attacked with “sticks and
traditional weapons” (an allegation that the Adivasis dispute); but additionally, the FIRs also
state that the leaders of the movement have been “misleading the innocent people in the name
of scheduled areas”, and “erecting stone slabs presenting wrong interpretation of the

Constitution”. As a result of these FIRs, individuals spent many months in jail.

The ongoing events in Khunti reveal multiple fault lines in the legal system, and multiple faults
in those who implement it. A century-and-a-half after it was first enacted into the Indian Penal
Code by the colonial government, the vague, ambiguous, and unclear wording of the sedition
provision continues to make it ripe for abuse. Sedition is defined as “disaffection” against the

government, or bringing it into “hatred or contempt”.

It should be immediately obvious that the scope of these words is boundless, and boundlessly
manipulable. However, when the sedition law was challenged in 1962, the Supreme Court of
India chose to uphold it, while claiming to “narrow it down”. The court noted that only acts

that had a “tendency” to cause public disorder would fall within the scope of the section.

As the years since that judgment have shown, however, this dictum had no impact whatsoever
on the abuse of the sedition law. To start with “tendency to cause public disorder” was almost
as vague as the text or the original section. Second, as long as the section continued to exist in
the form that it did, the police could, and did continue to invoke it to stifle protest and dissent;
and trial courts could and did continue to refuse bail to jailed people. The failure, thus, extended
to every wing of the state: to Parliament, for allowing the provision to remain on the statute
books, to the Supreme Court for not striking it down when it had the chance, to State
governments and State police, that have found in it a ready tool of oppression, and to lower

courts, that enable prolonged incarceration of people under the section.

It hardly needs to be said that “encounters” — and “fake encounters” — take place because
there do not exist adequate structures of accountability. Without those structures, the police
effectively operate in a zone of impunity. In 2009, the then High Court of Andhra Pradesh
passed a landmark judgment, in which it attempted to create a regime of accountability. Central
to this regime was the requirement that encounter deaths would be investigated as if they were
murder cases. An FIR would have to be registered against the police officers responsible for

the encounter, and to the extent that they invoked self-defence they would have to prove it.
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The High Court’s judgment, however, was stayed by the Supreme Court, which then passed a
series of vague and unclear guidelines a few years later, on the same subject. Even this regime,
however, was given a go-by in the recent Telangana encounter case, where, acting on a public
interest litigation, the Supreme Court stayed all pending proceedings (including before the
Telangana High Court, which was following the guidelines), and handed over the investigation

to a “committee”, with a six-month reporting period, to boot.

The Jharkhand and Chhattisgarh incidents show that the rule of law and the Constitution
continue to fail those who need it the most, and in the places where it is needed the most. And
the root cause of this failure is the active complicity of the very actors who we most expect to
maintain the rule of law: clearly, abusive laws are enacted by Parliament, upheld by courts,

misused by the police, and sanctioned (again) by courts.

19) In the above passage, the author has discussed issue of-
(a) sedition
(b) fake encounter
(c) both (a) and (b)

(d) terrorism

20) According to the author, the fact that FIRs lodged by police against tribal people

recorded "attacking with sticks and traditional weapons' indicates-

(a) misreporting of incidents by police

(b) underreporting of incidents by police
(c) truthful reporting of incidents by police
(d) None of the above
21) The author holds the following responsible for misuse of Indian laws-

(a) legislature

(b) executive

(c) judiciary

(d) All of the above

ANSWER THE FOLLOWING:
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22) India Quarterly (1Q) is the flagship publication of
a) Indian Legal Association
b) Indian Council of World Affairs (ICWA)
c) Bar Association of India
d) None of the above
23) The Bar Council of India publishes a journal called
a) Indian Law Review
b) Journal of India
c) Indian Bar Review
d) None of the above
24) The Law Quarterly Review’s founding editor was
a) Frederick Pollock
b) Francis Baker
c) Sadhanand Shetty
d) None of the above
25) The subject area covered by One India One People magazine is/are
a) Law & Judiciary
b) Police Reforms
c) Consumer Rights
d) All the above
26) In the citation 1997 AIR SCW 04 what does “4” stand for?
a) Volume Number
b) Page Number
¢) Journal Number
d) None of the above
27) In the case title “Vishaka & Ors. V/s. State of Rajasthan & Ors” what does “State of
Rajasthan” stand for?
a) Petitioner
b) Respondent
c) Defendant
d) Place of action
28) What is the abbreviation for All England Law Reports?
a) AELR
b) ALR
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c) AEL Reports
d) AllER
29) What does the word amicus curia mean?
a) Friendship is important
b) American Courts are superior
c) Friend of the Court
d) Courts must solve matters amicably
30) What is meant by ratio decidendi?
a) Friend of the court
b) Property divided by ratio
c) Rationale of the court
d) Judges expression
31) The statement “Be it enacted by Parliament in the forty fifth year of the Republic of India
as follows” in an Act is the
a) Long title
b) Enacting Formula
c) Short title
d) Preamble
32) The Gazette of India is
a) Public Document
b) Private document
¢) Personal Document
d) None of the above
33) An affidavit is a
a) Acclaimed statement
b) Sworn Statement
c) Original Statement
d) Affinity Statement
34) Fill in the blanks: Bail is while Jail is
a) Rule; Exception
b) Exception; Rule
c) Right; Wrong
d) Law; Remedy
35) Plaint is defined in of CPC
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a) Order5
b) Order 6
c) Order?7
d) Order 8
36) is a legal order whereby a person is either restrained from doing an act, or
ordered to perform an act.
a) Certiorari
b) Writ
c) Injunction
d) Obiter Dictum
37) Which of the following is a type of jurisdiction?
a) Pecuniary
b) Territorial
c) Subject matter
d) All the above

38) refers to a set of facts or allegations that make up the grounds for filing a

lawsuit.
a) Jurisdiction
b) Cause of Action
c) Issue
d) None of the above
39) Which of the following are the requisites of a valid custom?
a) Uncertainty
b) Lack of Clarity
c) Immoral
d) None of the above
40) Arbitration in India is governed by
a) Arbitration and Conciliation Act, 1996
b) Arbitration Act, 2019
c) Arbitration, Conciliation and Mediation Act, 2012
d) Arbitration and Conciliation Act, 1922

DO AS DIRECTED
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Identify the sentence type:

41) | ate a piece of chocolate cake.
a) Active voice
b) Passive voice
c) Neither
d) Both
42) A book was read to the students by the librarian.
a) Active voice
b) Passive voice
c) Neither
d) Both
43) She was not ready to meet him
a) Assertive sentence
b) Negative Sentence
c) Exclamatory sentence
d) Interrogatory sentence
44) Dead men tell no tales
a) Simple sentence
b) Compound Sentence
c¢) Complex sentence
d) Exclamatory sentence
45) The report that he has failed has surprised us all.
a) Simple sentence
b) Compound Sentence
c) Complex sentence
d) Interrogatory sentence
46) Sita is not more beautiful than some other girls in the class
a) Positive sentence
b) Comparative sentence
c) Superlative sentence

d) None of the above

Fill in the blanks:
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47) She told me she her parents at the weekend
a) That; has visited
b) That; had visited
c) Saying; will be visiting

d) None of the above
48) He said he would have visited the hospital, if he | was sick.
a) Me; knew
b) Her that; will know
c) That; had known that
d) None of the above
49) She where | was going
a) Said me
b) Asked me
c) Said
d) None of the above
50) What a beautiful scenery ()
a) ?
b) !
c) «“

d) ,

Legal Language

DESCRIPTIVE

Explain the State.

What is the use of power of attorney?

Explain the maxim Res Ipsa Loquitor.

Explain any two kinds of persons.

What the meaning of custom?

Write about the SCC.

Explain the procedure of searching the case laws.
Write any five guidelines issued in D K Basu case.
Write a short essay on Importance of legal education’.
0. Write about any three parts of the statute.

1 Write guidelines issued in M C Mehta case.

RS0 NOORWN =
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12. Write guidelines issued in Vishakha case.

13. Explain the maxim De Minimis Non Curat Lex

14. Explain the maxim Salus populi est suprema lex

15. Explain the maxim Rex non protest peccare

16. Explain the maxim Nemo debet bis vexari pro una et eadem
causa

17. Explain the maxim Ignorantia facit doth excusat, Ignorance juris
non-excusat

18. Explain the maxim Audi alteram partem

19. Explain the maxim Actus non facit reum nisi mens sit rea

20. What is law report?

21. What is the importance of law report?

22. How to search the case law?

23. Explain any three parts of the statues?

24. Write about the One India One People.

25. Write about the Lawyers Collective.

26. Write a short essay on ‘Road Safety rules and awareness’

27. What is the difference between the short title and long title?

28. Explain the maxim Nemo Est hareres viventis

29. Explain the following citation

Ajay Hasia vs. Khalid Mujib, AIR 1981 SC 487

THE MATERNITY BENEFIT ACT, 1961
(Act No.53 of 1961)
[12. December 1961]

An Act to regulate the employment of women in certain establishment for
certain periods before and after child-birth and to provide for maternity
benefit and certain other benefits.

BE it enacted by Parliament in the Twelfth Year of the Republic of India
as follows:
1. Short title, extent and Commencement
1. This Act may be called the Maternity Benefit Act, 1961.
2. It extends to the whole of India.
3. It shall come into force on such date as may be notified in this behalf
in the Official Gazette.
Identify the following.
Marginal notes
Enacting formula

o p

31.THE MEDICAL TERMINATION OF PREGNANCY ACT, 1971
(Act No.34 of 1971)
[10. August 1971]
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An Act to provide for the termination of certain pregnancies by registered
medical practitioners and for matters connected therewith or incidental
thereto.

Be it enacted by Parliament in the Twenty-Second Year of Republic of India
as follows:

1. Short title, extent and Commencement

1. This Act may be called the Medical Termination of Pregnancy Act,
1971.

2. It extends to the whole of India except the State of Jammu and
Kashmir.

3. It shall come into force on such date as the Central Government
may, by notification in official Gazette.

Identify the following

Official citation

Sections

o p

THE PROTECTION OF HUMAN RIGHTS ACT, 1993
(Act No.10 of 1994)
[8. January 1994

An Act to provide for the Constitution of a National Human Rights
Commission, State Human Rights Commission in States and Human Rights
Courts for better protection of human rights and for matters connected
therewith or incidental thereto.

Be it enacted by Parliament in the Forty-fourth Year of the Republic of India
as follows;

1. Short title, extent and Commencement

1. This Act may be called the Protection of Human Rights Act, 1993.

2. It extends to the whole of India.

3. It shall be deemed to have come into force on the 28. day of September
1993.

Identify the following

a. Extent
b. Commencement

33. Explain the maxims of natural justice

34. Examine the maxim that says king can do no wrong

35.Explain the maxim that protects against bias.

35. Explain the maxim which begins Injura non remota causa

37.Which is the maxim which rules that people cannot be liable for act of god? Explain

38. Explain res ipsa loquitor
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39. Why law recognises every man’s house as his castle?

40. What indicate intention? Explain the maxim with exceptions
41. Can a new law be retrospective? Which maxim explains this?
42 .Explain Noscitur asocis

43. Which maxim is on vicarious liability? Explain

44. Explain the consequence of death of a person on his right to initiate legal action.
45. Explain the important maxim on transfer of right/property
46.Explain the maxim on protection of those who are vigilant.
48. What are wrongs?

49. What is a stay order? Explain with example

50. What is an injunction? What are its kinds?

51. Distinguish between discharge and acquittal

52.Write about 2 cases where amicus curie were appointed.

53. What is cause of action? Give example

54.What is arbitration? How is it important?

55.What do you understand by gazette?

56. What is jurisdiction? What are its kinds?

57. What is “Current Indian Statutes”?

58.Who are legal heirs?

59. What is judgment?

60.What is conviction?

61. Explain international Law.

62. Explain appeal, review and revision.

63. What are issues? How are they different from facts?

64. What do you understand by bail?

65. What is the rule in “ Leges Posterior es prioress Contrarias Abrogant”?

66. Who files a suit? Explain

COMPREHENSION ( each has 3 marks )

67.Read the following passage and answer the questions that follow —

All of us complain at one time or another. But there are some people who complain regardless.
Complaining is a way of life with them; they cannot stop cribbing, they keep on complaining!
The traffic is too bad; the telephone lines are congested; the weather is too hot or cold; people
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are rude or indifferent; servants are lazy and inefficient; the subordinates are insubordinate!
Those who complain constantly do not wish to take responsibility for themselves and their
actions. Ask them why their goals are not accomplished, and they will come up with excuses.
When we complain and criticize constantly, we are inviting negativity into our lives.

a) When do all complain?
b) What answer do those who complain give if asked why their goals are not
accomplished?

68. Read the following passage and answer the questions that follow —

The basic function of Parliament is to make laws. All legislative proposals have to be
brought in the form of Bills before Parliament. A Bill is a statute in draft and cannot
become law unless it has received the approval of both the Houses of Parliament and
the assent of the President of India.

The process of law making begins with the introduction of a Bill in either House of
Parliament. A Bill can be introduced either by a Minister or a member other than a
Minister. In the former case, it is called a Government Bill and in the latter case, it is
known as a Private Member's Bill.

A Bill undergoes three readings in each House, i.e., the Lok Sabha and the Rajya Sabha,
before it is submitted to the President for assent.

a. Give the passage a suitable title
b. What is Government Bill?

Source: PASSAGE OF LEGISLATIVE PROPOSALS IN PARLIAMENT -
http://164.100.47.194/L oksabha/lL eqislation/Legislation.aspx

69.Read the following passage and answer the questions that follow —

It is difficult to compare countries because various factors such as size, culture, history,
geography, natural endowments, geopolitics and internal polity come into play. There are some
goals which can be achieved by smaller countries; but sometimes smaller countries find it
difficult to embark upon certain big technological plans even if they have the funds, because
the size of the domestic market is too small. If we consider the bigger countries, the closest
comparison to India is China, though there are many crucial differences.

The Chinese vision is to prepare the country for entry into the ranks of mid-level developed
nations by the middle of the twenty-first century. Acceleration of the nation's economic growth
and social development by relying on advances in science and technology is pivotal in this.

a. Why comparison between two countries becomes difficult?
b. What is the goal of China to be accomplished by the middle of 21st century?

This paragraph is taken from:

https://www.smartkeeda.com/Law Exams/English including comprehension/CLAT
English Quiz/newest/all/passage/CLAT English Quiz 20/
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70.Read the following passage and answer the questions that follow —

In many countries the legal systems are very complex. This is because they have been
developed over very long times. Every time that a new case is decided it can have an effect on
future cases. This means that the people who work in legal situations have to be clever. They
have to know and understand all the rules and precedents. A precedent is when a previous
decision will have an effect on future cases as it was related to an important point.

There are many people who work with the law, such as solicitors or judges.

A solicitor is a lawyer who spends most of their time advising their clients and preparing legal
documents, such as wills or contracts for buying and selling houses. They need to be very
careful and make sure that all the details are correct; otherwise their clients might lose a lot of
money.

A barrister is a type of lawyer who works in court rooms. They will either work for the
prosecution or defense sides.

Then there are judges and magistrates. A magistrate will hear trials about less serious crimes,
while a judge’s will be about more serious crimes. These are the people who have to decide
what punishment will be given to someone who is guilty. The punishments could range from a
small fine up to a long prison sentence, and even a death sentence in some countries. The trial
happens in the judge’s courtroom, so the judge is responsible for making sure the trial is run
fairly and follows the law.

If a lawyer believes that a trial was not fair or there was a mistake in the law, they can ask for
a new trial that will generally be hear by an appeal court where an appeal judge will be in
charge. Often appeal judges will be the most experienced judges in a country, so they know a
lot about the law and how to apply it.

a. What is this passage talking about?
b. What is the importance of precedent?

This passage is taken from:
https://www.excellentesl4u.com/esl-legal-reading.html

71.Read the following passage and answer the questions that follow —

As a society consists of all kinds of people, there is always a chance of one group of
people to be in the position of authority and dominance due to certain factors like
money, power, and status to rule over the other groups who are relatively weak. This
scenario is nothing new for every society once in a while have experienced such a setup.
Not only this but society is subjected to several other issues as well. Some of the notable
being poverty, drug abuse, corruption, prostitution, rape, lynching, child marriage, acid
attacks, child labour, discrimination in the form of caste, race, colour, gender etc. Law
acts as a driving wheel for society to eliminate all forms of hurdles by bringing
legislation and statutes that will help make a difference in the present and the future
society. Law plays an indispensable role in bringing in a social change. A lawless
society is absent of harmony and peace between the people and the society.

a. What role does law play in society?
b. What does this passage convey to you?
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Extract taken from https://blog.ipleaders.in/can-law-used-instrumént-creating-
social-change/

72.Read the following passage and answer the questions that follow —

Sustainable  developmentis  anorganizing  principle for  meeting human
development goals while also sustaining the ability of natural systems to provide
the natural resources and ecosystem services on which the economy and society
depend. The desired result is a state of society where living conditions and resources
are used to continue to meet human needs without undermining the integrity and
stability of the natural system. Sustainable development can be defined as development
that meets the needs of the present generation without compromising the ability
of future generations to meet their own needs. While the modern concept of sustainable
development is derived mostly from the 1987 Brundtland Report, it is also rooted in
earlier ideas about sustainable forest management and 20th-century environmental
concerns. As the concept of sustainable development developed, it has shifted its focus
more towards the economic development, social development and environmental
protection for future generations.

a. Define Sustainable development.
b. What change has been seen after development of concept of Sustainable Development?

Source: https://en.wikipedia.org/wiki/Sustainable development#cite note-2

73.Read the following passage and answer the questions that follow —

“l see you have brought the entire library with you, Mr. Advocate”, remarked the Judge
noticing the excess of books and manuals. “Indeed I have, My Lord”, said the lawyer, “I have
brought all these books to teach you a little about the law.”

Arguments are the fuel that drives the legal profession. It would be appropriate to say that a
healthy argument is an art which is practiced on a daily basis in all courtrooms across the
country. Yes, advocacy is perhaps the only profession where you can reply in the above manner
to your superior, and still get to keep your job. From the rush of the heated arguments one after
another, to taking subtle digs at each other, lawyers are a breed that continuously feed on an
intoxicating and almost addictive urge to outsmart each other. The sense of power that comes
with the black robe and the stiff collar band, is known only to the ones who wear it.

a. What is the essence of profession of advocacy, mentioned in this article?

b. Which art is practiced on daily basis in courtrooms?
Article by Sarang Khanna, Content Marketing Executive at iPleaders.
Source https://blog.ipleaders.in/a-day-in-the-life-of-a-lawyer/
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